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PART A - CHEMISTRY

1. A given nitrogen-containing aromatic compound A reacts with Sn/HCI, followed by HNO, to give an
unstable compound B. B, on treatment with phenol, forms a beautiful coloured compound C with the
molecular formula C12H1oN2O. The structure of compound A is :

T faar T AEgeH—gw WiAfed Affd A, Sn/HCI @2 918§ HNO, 9 fiha1 axa T sRamfl A
B =a1 21 B fdfa & @ fha1 axa ta g I A6 C 910 8, Rd1 30[—JF CqoHioN,O B |

e A B TRET B —
CONH,
oY
oY

CONH;

CN

Ans. (3)
NO, N, CI”
NH,
Sol. @/ Sn/HCI @/ HNO, @/
A B
l Phenol
O~
©
(C12H10N20)
2. Consider the reaction :
=1 arfifehar R faaR SR —
CH5;CH,CH,Br + N\aCN —— CH3;CH,CH,CN + NaBr
This reaction will be the fastest in :
I afafar fead arfy Ny e
(1) water (2) ethanol
(3) methanol (4) N,N'-dimethylformamide (DMF)
(1) S (2) vt
(3) HTa (4) N,N'-sgafewiAtTgS (DMF)

Ans. (4)
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CH
/ ¢
H—C

Sol. ” _N\ cH (Polar aprotic solvent)
3

CH;—CH,;—CH,—Br + NaCN ——> CH3;—CH,—CH,—CN + NaBr

This is a Sy2 Reaction for which polar aprotic medium is suitable for faster rate of reaction.

3. The correct structure of the product A formed in the reaction:
SR
o)
H, (gas, 1 atmosphere)
Pd / carbon, ethanol - A
is :
SR
o)
H, (39, 1 araTaxoT) A

Pd / &1d+, TSHTdl
¥ g9 dTol SIS A P FE) G¥T & —

OH OH
®
(1) (2) (3) (4)
Ans. (3)
(o] (o]
Sol. H, /Pd-C

During hydrogenation of o, unsaturated carbonyl compound by pd catalyst selective reduction is

observed of double bond.
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Ans.

Sol.

Ans.

Sol.

Ans.

Sol.

Which among the give nmolecules can exhibit tautomerism?

e W el § A fead Feaaan Y

AY Y
Ph
Ph
I 1I I

(1) Both Il and lI (2) Il only (3) Both I and Il
(1) I R Il = (2) waa I (3) I 3R NI g1
(2)

Only Il

o-H at bridge head carbon never show tautomerism.
o) OH
O —

The correct order of strengths of the carboxylic acids :

Ppraffaferd 37 & ATHLY BT Fal HH :

COOH COOH COOH
T (Y 5y
(@]
I 11 111
is:® —
) 11> 1> I @) 1> 1> 1l @) 1> 1>
(3)
(> 10> 1)

Acidic strength o I, —-M effect

(4) Both | and I
(4) 1 3R 1l =1

@) > 1>

—| effect depand upon distance so Il have stronger —I effect than IIl.

The compound that will react most readily with gaseous bromine has the formula :

S0 At @1, o f " aiF 9 orcafds e | fhar aRar ®, 93 ® -

(4) CaH1o

(1) CoHs (2) CsHe (3) C2H2

(4)

Gaseous Bromine react fastest with alkane by free radical mechanism.
C,H,, —22— C,H,Br

Butane (free Radical substitution Re action)
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Ans.

Sol.

Ans.

Sol.

Ans.

Which one of the following compounds shows the presence of intramolecular hydrogen bond ?

(1) Concentrated acetic acid (2) H,0,

(3) HCN (4) Cellulose
o & 9 fg e o s anfdae greero ariey SuRerd 8 ?
(1) A= TARe® s (2) H20,

(3) HCN (4) A

(4)

Cellulose is example of intramolecular H-bonding

The molar conductivity of a 0.5 mol/ dm® solution of AgNOj3 with electrolytic conductivity of 5.76 x 10° S
cm™' at 298 K is
0.5 mol/ dm®, AgNO; & faerae, RFas fagid—eraere=h =rciedr 5.76 x 10° S cm™' 8, @ 298 K R AR

HreAdhdl B |
(1) 28.8 S cm?*/mol (2) 2.88 S cm?/mol (3) 11.52 Scm?mol  (4) 0.086 S cm*/mol
(3)

4o = kx1000 _5.76x10™° x 1000
NV 0.5

=11.52 S cm?mol™".

The decomposition of phosphine (PH3) on tungsten at low pressure is a first-order reaction. It is
because the

(1) Rate of decomposition is very slow

(2) Rate is proportional to the surface coverage

(3) Rate is inversely proportional to the surface coverage

(4) Rate is independent of the surface coverage

TREA W BRBH (PH;) BT A @ W 3(qe Uh J2F dife &I Affpar B, Fife
(1) Jruere &1 97 Jga i 2

(2) I, S B ORGP FAMURN B

(3) I, U8 & UG b JSHAUN B |

(4) I, U8 & UG | WAF ¥

(4)
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Sol.

10.

Ans.

Sol.

1.

Ans.

Sol.

w 3
PH, —>P + =H,
2

Rate = k[PHj3].
It is independent of the surface coverage because zero order reaction depend on surface area covered

by reactant.

The coagulation values in millimoles per litre of the electrolytes used for the coagulation of As,S; are

given below :

I. (NaCl) = 52, II. (BaCl,) = 0.69 . (MgSQ,) = 0.22

The correct order of their coagulating power is

(O m=>1>1 2) 1> 11>11 (3)=>1>1I @ m=>1=>l
As,;S; & Thed H T fAgd—emeacdl & whad A felmid ufd effex § = g W g -
I. (NaCl) = 52, II. (BaCl,) = 0.69 . (MgSQ,) = 0.22

D Whed e BT FE HH B |

(O m=>1>1I 2)1=>11>11 3) 1 >1>1I @ m=>1=>l
4)

1
Coagulation value

Coagulation power o«

Higher the coagulation power, lower is coagulation values in millimoles per litre.
MgSO, > BaCl, > NaCl.

During the electrolysis of molten sodium chloride, the time required to produce 0.10 mol of chlorine gas
using a current of 3 amperes is

(1) 330 minutes (2) 55 minutes (3) 110 minutes (4) 220 minutes

Tfera AIfeT™ FaRgs & fAgd—euaed & aRM 3 YRR a1 9 0.10 91d FARA I & a9 3 fba
AT T § |

(1) 330 firre (2) 55 firre (3) 110 firre (4) 220 firFe
(3)
At Cathode : 2H,0—28" sH, + 20H"

At anode : 2CI LCIZ +2e”
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12,

Ans.

Sol.

13.

Ans.

Sol.

14,

Ans.

Sol.

3 x t(sec)
96500

t = 6433 sec
t=107.2 min
= 110 min

0.1x2=

How many electrons can fit in the orbital for whichn=3and /=1 ?

N=3Td/=1® HeTdh § fbd goideid 3 Idhd & ?

(1) 14 (2) 2
(3)6 (4)10
(2)

n=3 £=1

3p orbital can have only 2 elelctron.

For a sample of perfect gas when its pressure is changed isothermally from p; to py, the entropy change

is given by
TE Y I B T BT <9 H URIc p; H py, THAY W BIAT B | 9B Grerdl § gRac g1 |
(1) AS:RTIn[&J @) AS:an[&J
Pt Pi
(3) AS=nRIn[—‘J 4) AS:nRTIn[&J
Pt P
(3)
ASgs =nR /n ﬂ+ nCpEnE
P2 T1

In isothermal process T; = T,
P

ASgs = NR/N -
sys Pf
The van't Hoff factor (i) for a dilute aqueous solution of the strong electrolyte barium hydroxide is

yqel fagga—sraecd IRTW eEgiaaEs & g Wi faers & fag are g% qone (i) 2|

(13 (2)0 (3)1 (4)2
(1)
Ba(OH), —> Ba™ + 20H"

i=3.
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15.

Ans.

Sol.

16.

Ans.

Sol.

17.

Ans.

The percentage of pyridine (CsHsN) that forms pyridinium ion (CsHsN*H) in a 0.10 M aqueous pyridine
solution (K for CsHsN = 1.7 x 107°) is
0.10 M ARSI (CsHsN) & STeha faer (CsHsN) & 1T K, = 1.7 x 107° & ARSI 3t [CsHsNH]

g & forg ARSI & ufereradn 2 |

(1) 1.6 % (2) 0.0060 %
(3) 0.013 % (4) 0.77 %
(3)

CsHsN + HQO = 05H5N+H + OH™

-9
/Kb 17”0 ~ 1710 =1.3x10™*

% oc = 1.3 x107* x100
=1.3x1072 = 0.013.

In calcium fluoride, having the fluorite structure, the coordination numbers for calcium ion (Ca2+) and
fluoride ion (F") are

(1)4and 8 (2) 4and 2

(3)6and 6 (4)8and 4

Hfeaad TgeiRTEge #, e TgeiRige WY1 8 Bfewam 3mae (Ca’’) Td TqgaiRigs 3 (F7) & forg

IUFEHAT & B |

(1) 43R 8 (2) 43R 2
(3) 6 3R 6 (4)8 3R 4
(4)

Ca®" is surrounded by 8F~
F~is surrounded by 4Ca*?

If the EZ,, for a given reaction has a negative value, which of the following gives the correct

relationships for the values of AG® and Keq ?

Ife fedt & = aifvfpan & forg EX,, &1 719 Fomeid 8, @1 AG® Td Ko @ A & forg 981 /g 2

(1) AG® < 0; Koq <1 (2) AG® > 0; Keg < 1
(3) AG® > 0; Ko > 1 (4) AG® < 0; Keg > 1
(2)
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Sol.

18.

Ans.

Sol.

19.

Ans.

Sol.

20.

Ans.

E°cen < 0, so it is a non spontaneous process
AG°=—nFE° = +ve,so AG°>0

AG°= - 2.303RT log K

So, K< 1

Which one of the following is incorrect for ideal solution ?

aeet faera & fou /99 ¥ 9 -1 U T 87

(1) A('?"mix =0 (2) AHmix =0
(3) AUmix =0 (4) AP = Pobs - Pcalculated by Raoult's law = 0
(1)

For ideal solution inter molecular forces are identical so,
AHOmix = O, AVmix = O AC':‘mix < O

So 1st option is incorrect.

The solubility of AgCI(s) with solubility product 1.6 x 10™'° is in 0.1 M NaCl solution would be

(1) Zero (2)1.26 x 10° M (3)1.6x10°M (4)1.6x10"" M
0.1 M NaCl faer= # 1.6 x 107"° facar eFwa ardl AgCl(s) @ faeraan gi?
(1) = (2)1.26 x 10° M (3)1.6x10°M (4)1.6x10"" M
(3)
AgCl —= Ag" + CI

S S+0.1

Ksp = [Ag'1[CI]
1.6x 107" =S x (S+0.1)
=S x0.1
1.6 x10°=8

Suppose the elements X and Y combine to form two compounds XY, and X3Y2. When 0.1 mole of XY,
and XY, weights 10 g and 0.05 mole of X3Y, weights 9 g, the atomic weights of Xand Y are
A9 o fb &1 dw@ X &R Y faax a1 3 XY, T XY, <d 8 | 919 0.1 A1l XY, &7 ¥R 10 g 927 0.05

AT XY, BT 9R 9g 8, A X3AR Y & WA 9R 8 —

(1) 30, 20 (2) 40, 30
(3) 60, 40 (4) 20, 30
(2)
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Educating for better tomorrow

Sol. For XY, n

Z|=

10
X+2Y

X +2Y =100 ... (1)

01=

For XsYos n=

Y
3X+2Y

3X+2y=180 ... (2)
Form (1) and (2)
2X =80
X=40 and 2Y =100-40
=60
=Y =30

0.05

21. The number of electrons delivered at the cathode during electrolysis by a current of 1 ampere in

60 seconds is (charge on electron = 1.60 x 107'° C)

1 VIR aR1 R fagd—eeed & SR1F 60 AHTS H $HATS W goldgiAl dI gib AT & (SAITRIT BT AT

=1.60x 107°C)
(1) 7.48 x 10%° (2) 6 x 10%°
(3) 6 x 10%° (4) 3.75 x 10%°
Ans. (4)
sol. W _ 1x60
E 96500
6 _
= 9650 = no. of mole e

no.of 6 = — 2 x6.02x10%
9650

=3.75 x 10%
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22,

Ans.

Sol.

23.

Ans.

Sol.

24,

Boric acid is an acid because its molecule

(1) Combines with proton from water molecule
(2) Contains replaceable H" ion

(3) Gives up a proton

(4) Accepts OH™ from water releasing proton
IIR® 37 TP A ©, Fif $HD 3]

(1) Sl & 3] & W & A1 |afaferd & 7|
(2) % gfeRemu= H = 2 |

(3) WIEE < ®

(4) ST | OH™ U8 &’& WIeH < 2 |

4)
HsBO; + H,0 ——= B(OH); +H"

H3BOs is Lewis acid and accept OH™ from H,O and releases H".

AlF; is soluble in HF only in presence of KF. It is due to the formation of

AIF; &1 HF # forg ®aa KF &) SuRerfay # 81a1 B, ¥ faad 999 & SRl 8iar 8—
(1) K [AIF3H] (2) K3 [AIF3H3] (3) K3 [AIFg] (4) AlH;
(3)

AlF; + KF —HF 5 K3[AIF]

(maximum C.N. of AI"® is six so it form AIF63_).

Zinc can be coated on iron to produce galvanized iron but the reverse is not possible. It is because
(1) Zinc has higher negative electrode potential than iron

(2) Zinc is lighter than iron

(3) Zinc has lower melting point than iron

(4) Zinc has lower negative electrode potential than iron

Rid BT IMRA R AT TR F TRITR AET (BMRA) 99a1 B, Safdh s9®1 QAuda dvwa =7E1 8 | g1
PRI & —
(1) Rid &1 RS Foiders fa9d IRRT ¥ e B |

(2) i, SmIRT | Tob! BT B |

(3) i BT TAqTD MR A HH B |

(4) P BT KUMTHS SdelIs fa9d IRRT A 6H 2|
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Ans. (1)
Sol. B, 2,7, =—0.76V
Erei2/pe =—0.44V

Zn has higher negative SRP (Standard reduction potential) so it work as anode and protect iron to
make iron as cathode.

25. The suspension of slaked lime in water is known as
(1) Aqueous solution of slaked lime (2) Limewater
(3) Quicklime (4) Milk of lime
I A B U fycies wEerdr g
(1) g 1 &1 g e (2) T H1 U
(3) STTgeM A (4) gfemm g
Ans. (4)
Sol.  Suspension of slaked lime is called milk of lime.
26. The hybridizations of atomic orbitals of nitrogen in NO;,NO; and NH, respectively are
(1) sp®, sp and sp° (2) sp, sp® and sp®
(3) sp?, sp® and sp (4) sp, sp® and sp°
NO;,NO; 3R NH; ¥ ASgIoH & URAIad: Heidhl & HHIOl 8, HA:
(1) sp, sp iR sp’ (2) sp, sp’ 3R sp’
(3) sp?, sp’ &R sp (4) sp, sp” 3R sp®
Ans. (4)
H
.o /NL
Sol. O=N=0 /N—>O H |\H
sp O 5 H
sp 3
sp
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27.

Ans.

Sol.

28.

Ans.

Sol.

29,

Ans.

Which of the following fluoro-compounds is most likely to behave as a Lewis base ?

1 | BT TSR As Faifs w0 A 39 &R B X8 FI8R HRAT &

(1) SiF4 (2) BF;
(3) PF3 (4) CF,
()

Lewis base — ¢.p donar

y [
PFs /N
FFF

Which of the following pairs of ions is isoelectronic and isostructural ?

1 & 9§ Ml BT BT T FHASATSI S T4 AHATAAHD & ?

(1) ClO;,S02" (2) CO>,NO;
(3) ClO;,CO* (4) SO%,CO>
(2)

iso electronic — same valence electron.

Iso structural — same structure

Cl S 7 Both pyramidal but - valence
O//“\O_ _O/“\ - | electron are not same
O (@) .

0 0
Il I

C N, Both trigonal planar and
‘O/ \O‘ ‘O/ \O isoelectronic

In context with beryllium, which one of the following statements is incorrect ?
(1) Its hydride is electron-deficient and polymeric.

(2) Itis rendered passive by nitric acid

(3) It forms Be,C

(4) Its salts rarely hydrolyze.

IRferm & A # 71 deFl § | dF—41 Tora 287

(1) SAHT BS|SS A —gH Td 95D B | (2) 39®T ATSfe®H a1 gRT FfSp 9=1 faam wiram 2
(3) T8 Be,C 94T R | (4) SD AGU AT H STA—SuEfed BN ¥ |

(2)
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Sol.

30.

Ans.

Sol.

31.

Ans.

Sol.

32.

Ans.

B.Hs boron hydride, it is electron deficient and dimer of BH;.

A/, Cr are having passive nature with HNO; but Be dissolve in conc. HNO;

Hot concentrated sulphuric acid is a moderately strong oxidizing agent. Which of the following reactions
does not show oxidizing behaviour ?
T AT GeRIRP I U HEgH Yad SAfaiieRS | 7 4 9 S0 aifdfhan sifadiexer ager T8

qed & ?

(1) CaF, + H,SO, —— CaSO0,4 + 2HF (2) Cu + 2H,SO4 —— CuSO4 + SO, + 2H,0
(3) 2S + 2H,SO, —— 2SO0, + 2H,0 (4) C + 2H,SO4 —— CO, + 2SO0, + 2H,0
(1)

1st reaction is not a redox reaction as the oxidation number of elements remains unchanged.

Which of the following pairs of d-orbitals will have electron density along the axis ?

/=1 3§ 9 d-pEdl & 59 g™ H soiag g9 el & Agfee § 7

(1) dyy Aoz (2) dz, o, (3) dg, Ay (4)d,, ds
(4)
y
X
dzz dXz_yz

The correct geometry and hybridization for XeF, are -

(1) square planar, sp>d® (2) Octahydral, sp>d®

(3) trigonal bipyramidal, sp°d (4) planar triangle, sp>d®
XeF, & forw W& <fafd ua |g davor & —

(1) @7 FHdT |, sp°d? (2) BB, spd?

(3) Prepmia R, spid (4) TadeT f3rpror, spid®
(2)
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Sol. e
F\V F Geometry— electron pair arrangement

F 0 F  space— atomic arrangement

Geometry—> octahedral hybridization — sp°d®

33. Among the following, which one is a wrong statement?
(1) I3 has bent geometry. (2) PHs and BiCls do not exist.
(3) pr-dw bonds are present in SO, (4) SeF, and CH, have same shape.
1 % 9 DI B el '
(1) I; & sanfafey @fdea 2| (2) PHs 3R BiCls T 31Rded 72l 8 |
(3) SO, & pr-dr 3MEE BIT 2 | (4) SeF, 3R CH, @ 3MPR T4 2 |
Ans. (4)

H
F |

F

I/\I O/\O 2 /I\H
F T HH

Sp® One pr-pn T etranodral

Sol. One pr-dn See saw Tetrahedra

+

Not same shape

34. The correct increasing order of trans-effect of the following species is
1 el & oy gi9—uIa &1 ggdr gon |8 %H § —
(1) CN™ > Br > CgHs > NHj3 (2) NH;> CN™> Br> CgHs~
(3) CN™> Cg¢Hs > Br™ > NH;3 (4) Br > CN™> NH3> CgHs~
Ans. (3)
Sol. Trans effect : The intensity of trans effect depend on increase in rate of substitution of the trans ligand.

F"<NH3<ClI"<Br <Ph” <CH; <CN"
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35.

Ans.

Sol.

36.

Ans.

Sol.

37.

Ans.

Which one of the following statements related to lanthanons is incorrect ?

(1) Ce (+4) solutions are widely used as oxidizing agent in volumetric analysis.

(2) Europium shows +2 oxidation state.

(3) The basicity decreases as the ionic radius decreases from Pr to Lu

(4) All the lanthanous are much more reactive than aluminium

=1 Bl § A BT A9 B HH H ToAd § 2

(1) 3maa fIgeyor # fiRfieR®s @& w9 9 Ce (+4) Il &1 gg< wu # IUA fHan o 2 |
(2) TR +2 SffRABROT 3aven goiar 2 |

(3) Prd Lu &% 3mafe 5501 @& ges & H1Y 8R&dl gl § |

(4) T <o, Vegfaf s @t e srafde fharehe 2 |

(3)
Ce*is strong oxidising agent and easily convert into ce®
Eu*? exist and behave as reducing agent lanthanons are much more reactive than aluminum.

Lanthanoids are basic in nature and their acidity is three.

Jahn-Teller effect is not observed in high spin complexes of

1 & 9@ f5as Iza ahv1 Gl § AF-ToR U9T g T 77

(1) d’ (2)d’ (3)d° (4)d*

(3)

Jahn teller effect : This is geometric distortion occur in unsymmetrical octahedral complexes for

example high spin complexes of (high spin)

d*[ 1 di 11 dl11]1 d’l ] 1
T1]1 [ARAR AR AR
unsymmetrical unsymmetrical Symmetrical unsymmetrical

Which of the following can be used as the halide component for Freidel —Crafts reaction?

(1) Isopropyl chloride (2) Chlorobenzene

(3) Bromobenzene (4) Chloroethene

1 # 9 fod fhsa—wved AfAfhar # BTse Ucd & ®U # SUAN H /T ST Ahdl 27
(1) AT FARTSS (2) FARTISNT

(3) SrEESIE (4) FARIGA

(1)
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Sol.  CH,=CH-C, @—m, @Br

Not suitable for friedal-craft Reaction in Benzene. Isopropyl chirodie is suitable.

GHs
\CH

G
CH;—CH-CI . @ ACl

38. In which of the following molecules, all atoms are coplanar ?

= & 9 5 o) § |t wReT] wEaey 27

o OO " X
CHs /CN

(3) O 4) c=C
/ \CN

CHj

/CH3

Ans. (2)

Sol. Biphenyl

All carbon atom is sp2 hybridised and its geometry is trigonal planar.

39. Which one of the following structures represent nylon 6,6 polymer ?
/1 3§ § - TREAT ASA 6,6 IgAD DI YSRIA B © ?
0
Il Ho H H, H,
C. C. _N—*CHa)eNH\ c’y C
(1) (7 e @7 NN
H, Il [ |
0] n NHz  CHs/66
H,  Ho
C_H_C_H
Y
| I
NH>  NH, /66 NH, CI /¢
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Ans.

Sol.

40.

Ans.

Sol.

(1)
Nylon-66 — adipic acid + Hexamethylenediamine
HOOC—(CH;),—COOH+H,N—(CH,)s—NH,

2

—C—(CHz—CHz)~C~NH—(CH_)g—NH-
| n
o)

In pyrrole
4 3
5 / \ 2
N
| 1
H
the electron density is maximum on
URRTA
4 3
5 / \ 2
N
| 1
H
¥ goldgid g9 AfRHaT &
(1)2and 5 (2)2and 3 (3)3and 4
(1) 23R 5w (2) 23R 3w (3)33MR4w
(4)

4/ \3 4@ 3 4 3

—/ D=/
)= =L
|1| +||_1 +lli

Electron density is maximum on-2,4th carbon.

(4) 2 and 4
(4) 23R 4 ™
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4. Which of the following compounds shall not produce propene by reaction with HBr followed by
elimination or direct only elimination reaction ?

/1 4 9 dF—a1 A% HBr | f3ha1 e don 915 § fAeuq sifafhar a1 feh daa faao= sifafpar 9

ardE e <d ® ?
He H,G—CH He
(1) HsC—C—CH:Br (2) 2 </ 2 (3) HsC—C—CH:OH  (4) H,C=C=0
H,
Ans. (4)
elimination

Sol. (i) CHs~CHp—CH,~Br — > CHy—CH=CH,

elimination
(ii) —> CH3—CH=CH,

elimination

HBr
(”I) CH3;—CH,—CH,-OH —> CHs—CH>—CH,—Br EE—— CHs—CH=CH,

HBr
(iv) CH,=C=0 —> No reaction.

42, Which one of the following nitro-compounds does not react with nitrous acid
o & 9 P Arser Afie, AEed 3Fa 9 fhar & BRar © ?
CH3
H
) HsC (2) HiC_C’
YH\NO " ¢""\o,
H>
Ha
H3C C H3C
S No; (4) H3C—C—N02
H.C” HaC”
Ans. (4)
Sol. 1° nitro compound, 2° nitrocompound react with HNO, acid but 3° nitro compound does not react with
nitrous acid
CH3 CH3
. I HNO-
(i) CHs—ﬁ—CH—NOZ — CH3—C C NO;
O 1°nitro o N ')

(i) CHs—CH,~CH,—NO, -HO=N=0 CHy~CH-G-NO,
1° nitro N—OH
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(ii) CHy~CH-CH,-NO, M)CH3—CI)H—%—NOZ
CH; 1°nitro CH; N—OH

_ HNO _
3° nitro — > No reaction

43. the central dogma of molecular genetics states that the genetic information flows from
3Mfoqes TRl BT Bl g $edl & b TR a1 o1 ydrE el 8
(1) DNA —» RNA — Carbohydrates (2) Amino acids — Proteins — DNA
(3) DNA — Carbohydrates — Proteins (4) DNA — RNA — Proteins
(1) DNA — RNA — FTafggse (2) VT et — WIS — DNA
(3) DNA — @rafegse — WM (4) DNA — RNA — U=

Ans. (4)

Sol. DNA — RNA — Protein

44, The correct corresponding order of names of four aldoses with configuration given below
CHO CHO CHO CHO
H——OH HO——H  HO——H H——OH
H——OH H——OH HO——H  HO——H
CH,OH CH,OH CH,OH CH,OH

respectively, is

(1) D-erythrose, D-threose, L-erythrose, L-threose
(2) L-erythrose, L-threose, L-erythrose, D-threose
(3) D-threose, D-erythrose, L-threose, L-erythrose
(4) L-erythrose, L-threose, D-erythrose, D-threose

fauraas Y N IR Ve

CHO CHO CHO CHO
H——OH HO——H  HO——H H——OH
OH H OH HO H  HO H
CH,0H CH,0H CH,OH CH,OH

@ A D T8 AT HH 8, HA

(1) D-uRefr, D-fren<, L-uRei, L-frema
(2) L-uRe, L- fren<, L-uRef<, D- frei<a
(3) D- frei™, D-uRe™, L- 8™, L-uRemsq
(4) L-uRe, L-frai<, D-uRens, D- 13

RESONANCE EDUVENTURES LTD.

CORPORATE OFFICE : CG TOWER, A-46 & 52, IPIA, NEAR CITY MALL, JHALAWAR ROAD, KOTA (RAJ.) - 324005
REG. OFFICE : J-2, JAWAHAR NAGAR, MAIN ROAD, KOTA (RAJ.)-324005 | PH. NO.: +91-744-3192222
PH.NO. : +91-744-3012222, 6635555 | TO KNOW MORE : SMS RESO AT 56677
WEBSITE : WWW.RESONANCE.AC.IN | E-MAIL : CONTACT@RESONANCE.AC.IN | CIN : U80302RJ2007PLC024029
Toll Free : 1800 258 5555 08003 444 888 facehook,com/ResonanceEdu ntwitter.corn/ResonanceEdu www,youtube.com/resowamh E blog.resonance.ac.in

THIS SOLUTION WAS DOWNLOAD FROM RESONANCE NEET 2016 PHASE-II SOLUTION PORTAL PAGE # 19




Resonance” | NEET_2016 (PHASE-Il) | 24-07-2016 | PAPER CODE-BB,QQ,XX

Ans. (1)
CHO CHO CHO CHO
H——OH (D) HO———H (1) (LHO—7F—H H————0H (D)
Sol.  H—1—O0H (D) H—1—OH (D) (L)HO—F—H HO——H (L)
CH,OH CH,OH CH,OH CH,OH
D-erythrose D-threose L-erythose L-threose
45, In the given reaction

@‘FO%P

the product P is

< T rfafeea
DO
¥ IAEP
/\l
X F
(1) PN (2)
\/l
AN y
(3) \/| (4)

Ans. (4)

Sol. @ @ L®O . @_>

This is a Freidal — Craft reaction.
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46.

Ans.

Sol.

47.

Ans.

Sol.

48.

Ans.

Sol.

PART B — BIOLOGY)|

A foreign DNA and plasmid cut by the same restriction endonuclease can be joined to form a
recombinant plasmid using

(1) ligase (2) EcoRI

(3) Taq polymerase (4) polymerase Il

T B ufided TeIgfats ¥ P T Uh ISR DNA iR WSS b1 gaaiTel @ifvds a9 & forg
frd®dT STIRT HRP 32 SIeT Sff Hobdl & 7

(1) @rgrst (2) EcoRI

(3) 2% dicimw (4) dfeir RS I

(1)

Ligase are the enzymes used to join substrates. Here in case of DNA T, DNA ligase is used.
SITEAST U Yo &, Sl IRl &1 Sires & forg ygad fad o 2 | a8f DNA & forg T, DNA argis
g fHar a2 |

Which of the following is not a component of downstream processing?

(1) Expression (2) Separation
(3) Purification (4) Preservation
ffefad § & I SgUarE WhH0 BT U fadd T8l © 7
UEERIES) (2) geIrEHRoT

(3) gl (4) uferor

(1)
Expression of recombinant DNA is parts of upstream processing.

AT SIGAY $1 AR, STIHaATE HHHT BT WM & |

Which of the following restriction enzymes produces blunt ends?

(1) Hind 1l (2) Sall
(3) Eco RV (4) Xho |
frfafed § 9 sFar ulides orsa §fed RR o= &Rar & ?
(1) Hind 1l (2) Sall
(3) Eco RV (4) Xho |

(3)

Eco RV has restriction sequence —
Eco RV =1 ufi@erd s <adn g—
5 — GAT ATC -3

3'-CTA TAG -5
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49,

Ans.

50.

Ans.

51.

Ans.

52.

Ans.

Which kind of therapy was given in 1990 to a four-year-old girl with adenosine deaminase (ADA)
deficiency?

(1) Radiation therapy (2) Gene therapy

(3) Chemotherapy (4) Immunotherapy

g9 1990 # U™ INFAAE (@ILT) & & J Nfed ar af @t aiferdr &1 fF=faled § @

fafeear < it ?

(1) fafe=or fafee (2) St fafdren
(3) v fafdean (4) wforen ferfdoan
(2)

How many hot spots of biodiversity in the world have been identified till date by Norman Myers?

(1) 43 (2) 17
(3) 25 (4) 34
AT A gRT 99 a9 fagg # fhaw S fafaydr are gfc Wie wgam W § ?
(1) 43 (2) 17
(3) 25 (4) 34

(4)

The primary producers of the deep-sea hydrothermal vent ecosystem are

(1) coral reefs (2) green algae

(3) chemosynthetic bacteria (4) blue-green-algae
TR TG b S I uIRdT # wfie Swes d1F 8 ?

(1) yarar fafy (2) ERa <t

(3) TEIT—HTATOT SiaT9] (4) ra—eRa Aara
(3)

Which of the following is correct for r-selected species?
(1) Small number of progeny with large size

(2) Large number of progeny with small size

(3) Large number of progeny with large size

(4) Small number of progeny with small size

raafa Sl & IR # ferafalad § & o w8 g ?
(1) BH =T H &S AT qTell Fafa

(2) 991 =T H VIS A dTell Hafa

(3) 91 AT H 9 MY dTel A

(4) PH AT H BIC AT qTell Fafa

(2)

RESONANCE EDUVENTURES LTD.

CORPORATE OFFICE : CG TOWER, A-46 & 52, IPIA, NEAR CITY MALL, JHALAWAR ROAD, KOTA (RAJ.) - 324005

REG. OFFICE : J-2, JAWAHAR NAGAR, MAIN ROAD, KOTA (RAJ.)-324005 | PH.NO.:+91-744-3192222
PH.NO. : +91-744-3012222, 6635555 | TO KNOW MORE : SMS RESO AT 56677

WEBSITE : WWW.RESONANCE.AC.IN | E-MAIL : CONTACT@RESONANCE.AC.IN | CIN : US0302RJ2007PLC024029

Toll Free : 1800 258 5555 08003 444 888 facehook,com/ResonanceEdu ntwitter.corn/ResonanceEdu www,youtube.com/resowamh Eblog.resonance‘ac.ir

THIS SOLUTION WAS DOWNLOAD FROM RESONANCE NEET 2016 PHASE-II SOLUTION PORTAL PAGE # 2




Resonance” | NEET_2016 (PHASE-Il) | 24-07-2016 | PAPER CODE-BB,QQ,XX

53.

Ans.

Sol.

54.

Ans.

Sol.

If +' sign is assigned to beneficial interaction, - sign to detrimental and '0' sign to neutral interaction,
then the population interaction represented by '+' "' refers to

(1) parasitism (2) mutualism

(3) amensalism (4) commensalism

afg '+ fEa & amerlt weER i @ fog - fEa @ ghers & fog iR 0 e @ Serie
wRERfEA @I forg & sirar g, @ '+ - ERT qRia wefe weRfhar e wefid avar § °?

(1) TRoffaaT (2) FRTUHIRET
(3) ARSI TRaifdar (4) FEfTen
(1)

Parasitism + , —

Mutualism + , +
Amensalism 0, —
Commensalism +, 0
ROffaar +, —
HEUDINGT + , +
TR TRoNfadr 0, —
HEHII +, 0

Which of the following is correctly matched?

(1) Stratification-Population

(2) Aerenchyma-Opuntia

(3) Age pyramid-Biome

(4) Parthenium hysterophorus-Threat to biodiversity
ffafed 3 9§ 9 981 gafed © ?

(1) TWRU—HAfE

(2) argaDH—STGrrT

(3) amg fRfAs—sfam

grfifraT fevevrmve—aia fafdgd & fay dac

INEEN
' N

Stratification :- Structural component of ecosystem

Aerenchyma :- Feature of hydrophytes

Age pyramid :- Food chain

Parthenium hysterophorus :- Exotic species do not that allow the growth of other plants near it.
TROT ;- GRS & GRAAHS TTh

Aerenchyma :- Feature of hydrophytes

Age pyramid :- Food chain

Parthenium hysterophorus :- Exotic species donot that allow the growth of other plants near it.

NN N N NS S~~~
~— S N N
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55. Red List contains data or information on
(1) marine vertebrates only
(2) all economically important plants
(3) plants whose products are in international trade
(4) threatened species
oA A H fFTd IR H Sffwe a1 gae g 8 ?
(1) DI AT HLUwSD! UTof
(2) 3nfdfs wu | Few@yel |l urey
(3) 7 Uy e S RIS AR H 8

(4) FHe— SHfrt
Sol. Red list of red data bood IUCN (New name WCU) involve threatened species of plants & animals
56. Which one of the following is wrong for fungi?

(1) They are both unicellular and multicellular.
(2) They are eukaryotic.

(3) All fungi possess a purely cellulosic cell wall.
(4) They are heterotrophic

FHapi & fory F=fefed & 9 = o 8 2

(1) A THHIREHT AR TFHINGT Sl UHR & B 2 |

(2) 3 DB B |
(3) W FHadl H Yg AgAd dren BIRiwT ARy B 2|
(4) 3 fRwrard) 8 2 |
Ans. (3)
Sol.  Infungi, cell wall is usually composed of Chitin. Cellulosic cell wall is found in oomycetes of

phycomycetes in fungi.

57. Methanogens belong to

(1) Slime moulds (2) Eubacteria
(3) Archaebacteria (4) Dinoflagellates
fgmoE fead g=fg g 8 ?
(1) 31U BHET (2) goftarg
(3) 3MMErSiiaT] (4) STEATHRISTAIE
Ans. (3)
Sol. Biogas producing, obligate anaerobe, methanogens are type of Archaebacteria.
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58.

Ans.

Sol.

59.

Ans.

60.

Ans.

Sol.

Select the wrong statement.

(1) Diatoms are microscopic and float passively in water.

(2) The walls of diatoms are easily destructible.

(3) 'Diatomaceous earth' is formed by the cell walls of diatoms.
(4) Diatoms are chief producers in the oceans.

e HA G |

(1) ScH geweeiia B 2 iR ot # e o=d 2 |

(2) sreH @1 fARwf s ¥ e Bl 2 |

(3) STIcH ATt &1 AT SrReHl a BIfE—fAfEt & 8T g |
(4) HENITRI H ST¥CH YT SRS § |

(2

The wall of diatoms contain cellulose & Silica. It is called frustule. It is non-degrodable. After death it is
deposited at the bottom in water & form diatomous earth.

The label of a herbarium sheet does not carry information on

(1) height of the plant (2) date of collection
(3) name of collector (4) local names
qeUTed TS & AWY # AEfaRad # | il o sifeha e 8l ?
(1) A B ST (2) EU8 @ ARG
(3) AwEHal I AH (4) g A

(1)

Conifers are adapted to tolerate extreme environmental conditions because of

(1) presence of vessels

(2) broad hardy leaves

(3) superficial stomata

(4) thick cuticle

YRR UISY ATERYT B ARH SR DI Fed PR & foIQ e 8l 5, Wifd I7H
(1) arfedrer & SuRefy et 2

(2) A< AR ufT B ®

(3) g W8 WR BN B

(4) A SU@ET B ®

4)

Presence of thick cuticle, presence of sunken stomata and needle like leaves are xerophytic
adaptations of conifers for tolerating extreme environmental conditions.

RESONANCE EDUVENTURES LTD.

CORPORATE OFFICE : CG TOWER, A-46 & 52, IPIA, NEAR CITY MALL, JHALAWAR ROAD, KOTA (RAJ.) - 324005

REG. OFFICE : J-2, JAWAHAR NAGAR, MAIN ROAD, KOTA (RAJ.)-324005 | PH.NO.:+91-744-3192222
PH.NO. : +91-744-3012222, 6635555 | TO KNOW MORE : SMS RESO AT 56677
WEBSITE : WWW.RESONANCE.AC.IN | E-MAIL : CONTACT@RESONANCE.AC.IN | CIN : US0302RJ2007PLC024029

Toll Free : 1800 258 5555 08003 444 888 facehook,com/ResonanceEdu ntwitter.corn/ResonanceEdu www,youtube.com/resowamh Eblog.resonance‘ac.ir

THIS SOLUTION WAS DOWNLOAD FROM RESONANCE NEET 2016 PHASE-II SOLUTION PORTAL PAGE # 5




Resonance” | NEET_2016 (PHASE-Il) | 24-07-2016 | PAPER CODE-BB,QQ,XX

61.

Ans.

Sol.

62.

Ans.

Sol.

63.

Ans.

Sol.

Which one of the following statements is wrong?

(1) Laminaria and Sargassum are used as food.

(2) Algae increase the level of dissolved oxygen in the immediate environment.
(3) Algin is obtained from red algae, and carrageenan from brown algae.

(4) Agar-agar is obtained from Gelidium. and Gracilaria.

forforRag & 9 PN o A ® 7

(1) AfFARFr IR il @rer & wU # ygad 6 9 2 |

(2) darct 3w wfTdhe yafaRer # gfem sifrfivce & W &1 gerh ¥ |
(3) VfesT @t Yardl | qAn BAREA R daredl F U fHar e g
(4) VIR—R, foreiifead iR ARaRar & wra fam s & |

(3)

Algin is obtained from Laminaria & Fucus —Brown algae while Carrageenan from chondrus crispes —
Red alage

The term 'polyadelphous’ is related to

(1) calyx (2) gynoecium
(3) androecium (4) corolla
‘TEEHl' U fhad d=ed © ?

(1) TSy (2) ST

(3) gHT (4) Te1gS

(3)

If filaments of Androecium are joined to form more than two groups but their Anthers separate, it is
called polyadelphous Eg :- Citrus.

How many plants among Indigofera, Sesbania, Salvia, Allium, Aloe, mustard, groundnut, radish, gram
and turnip have stamens with different lengths in their flowers?

(1) Six (2) Three

(3) Four (4) Five

SR, WA, Afeq ol Ve, wREl, Fme, q, 7 ok weom § § fha ded & gui ¥
gaeRt B g A B R ?

(1) &: (2) =
(3) TR (4) U=
()

Salvia, Mustard, Radish and turnip have stamens with different lengths in their flowers
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64.

Ans.

Sol.

65.

Ans.

Sol.

66.

Ans.

Sol.

Radial symmetry is found in the flowers of

(1) Cassia (2) Brassica
(3) Trifolium (4) Pisum
R wAfAfY freas gt # ol Wl 2 °?

(1) PRrar (2) Myar
(3) grewiferTT (4) Tz
(2)

Cassia, Trifolium & Pisum have zygomorphic flowers while Brassica has Actinomorphic flowers (Radial
symmerty)

Free-central placentation is found in

(1) Citrus (2) Dianthus
(3) Argemone (4) Brassica
g e domoe=ard fHas urn o g ?

(1) Rge (2) srgvere
(3) sfofarT (4) sfar
(2)

Free central placentation is found in Dianthus.

—~

Cortex is the region found between
(1) endodermis and vascular bundle
(2) epidermis and stele

(3) pericycle and endodermis

(4) endodermis and pith

geqe & e 9 & g ST g ?

(1) T iR Hags dvsd
(2) SrETaEn iR T

(3) aR™T 3R Sr=avaan

(4) IrTeadl AR HooTl

(2)
Sequence from outside to inside in T.S. of stem is epidermeis, hypodermis, cortex, endodermis, stele
(pericycle + vascular tissues + pirh) hence cortex is present between epidermis & stele.
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67. The balloon-shaped structures called tyloses
(1) are linked to the ascent of sap through xylem vessels
(2) originate in the lumen of vessels
(3) characterize the sapwood
(4) are extensions of xylem parenchyma cells into vessels
TEARTA GRER, S S dHEarh 8, 9
(1) STTger aTfRB1el & EIax ITARIEY I T 2l &
(2) TIiRBIRMT B ATBIRGT F ST Bl &
(3) T BTS Pl IIAARIT HRAT &
(4) TRBIA #§ S Jgad HIRTHS & JHR Bl &
Ans. (4)
Sol.  Ballon like parenchymatous ingrowth in vessels called tyloses which inhibits trans portation of water &
minerals in xylem

68. A non-proteinaceous enzyme is
(1) deoxyribonuclease (2) lysozyme
(3) Ribozyme (4) ligase
fr=ifarRad # | ST U IR WSS arell UoTgH &7
(1) fesitriRTgaI=g gt (2) drgATATSH
(3) NTEdISITEH (4) TSI
Ans (3)
Sol. Ribozyme is non proteinaceous enzyme as it is 23 rRNA acts as a catalyst during protein synthesis.
69. Select the mismatch.
(1) Methanogens-Prokaryotes (2) Gas vacuoles-Green bacteria
(3)Large central vacuoles-Animal cells (4) Protists-Eukaryotes
IHa g
(1) FASAST-UTdh s ! (2) 9 TRt -8Ra Siar]
(3) TSI T [T - S PIRTBRI (4) Mfiee-TimH =D
Ans (3)
Sol.  Animal cells donot contain large central vacuole, their vacuole is poorely developed or absent.
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70.

Ans.

Sol.

71.

Ans
Sol.

72.

Ans
Sol.

Select the wrong statement.

(1) Mycoplasma is a a wall-less microorganism.

(2) Bacterial cell wall is made up of peptidoglycan.cj

(3) Pili and fimbriae are mainly involved in motility of bacterial cells.

(4) Cyanobacteria lack flagellated cells.

Tord HoF g

(1) FTgPIeTsH U ARy — IRT Jewofia 2 |

(2) Share] ST ARy TETSaTsdha @ 9+ B B |

(3) IMF AR TR &I wU A Sham] RGN o1 frfiea & fog e 2 |
(4) IRANFERAT F HIm PIRIGRIT BT 3wTa BT R |

(3)

Motility is performed by flagella only in bacterial cells while fibriae provide attachment to base and pili

forms conjugation tube during conjugation

A cell organelle containing hydrolytic enzymes is

(1) mesosome (2) lysosome
(3) microsome (4) ribosome
fod PINMBT 6 F Tt 3rTee-l TogH BIar 27

(1) agHI (2) IR
(3) geABTa (4) TTESTH

(2)

Hydrolylic enzyme containing vesicle is called lysosome.

During cell growth, DNA synthesis takes place in

(1) M phase (2) S Phase
(3) G4 phase (4) G, phase
IR gfg & SR, DNA &7 GeavoT & yraeen 9 gram 27
(1) M wra=en (2) S uraRer
(3) G, UTaRel (4) G, uraRel
(2)

DNA Polymerase enzyme is synthesized in G, phase but activates in 'S' phase hence DNA replication

takes place in 'S' phase in the presence of DNA polymerase.
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73.

Ans
Sol.

74.

Ans
Sol.

75.

Which of the following biomolecules is common to respiration-mediated breakdown
of fats, carbohydrates and proteins?

(1) Acetyl CoA

(2) Glucose-6-phosphate

(3) Fructose 1,6-bisphosphate

(4) Pyruvic acid

fr=forRaa § 9 SF-91 Si9 317] a9 FEfERse IR UIEH & qu--AIead ¥od § JafTs 87?
(1) Tfifes CoA

(2) TIBIE-6-BIEHT

(3) 1% 1,6-fABhiRDme

(4) TTSHAP 3T

(1)

Acetyl CoA is common intermediate of fats, carbonydrates & proteins during aerobic respiration.

A few drops of sap were collected by cutting across a plant stem by a suitable method. The sap was
tested chemically. Which one of the following test results indicates that it is phloem sap?

(1) Absence of sugar (2) Acidic

(3) Alkaline (4) Low refractive index

e SUYad A §RT UG & T 1 IRUR HIECH BX 39 D FY §a YhId DI T | 9 $ IMAHD
werr fpar mar | =fafea & @ &9 @1 aRoms a8 ol f& I8 waes <9 87

(1) THT B U (2) e
(3) aR™ (4) 1 srac=s®
(3)

Phloem sap is alkaline due to actively pumping of protons from companion cells to the outer cells.

You are given a tissue with its potential for differentiation in an artificial culture. Which of the following
pairs of hormones would you add to the medium to secure shoots as well as roots?

(1) Gibberellin and abscisic acid

(2) IAA and gibberellin

(3) Auxin and cytokinin
(4)

4) Auxin and abscisic acid
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YS! TS HIA "egd § fAUST 1 &a1 arell U Had QA1 M1 & | WISl 3R Sfsi &l S U &
% forg oy wemw & f=folRaa § @ gM & fod g @1 famia |

(1) Rrarferm &k Yfsafis

(2) 3g0ToTo 3R FTaRfA

(3) 3fffad iR AgeSIHEMAA
(4) oo iR VfsaRis ord
Ans (3)
Sol.  Auxin and cytokinin ratio regulates the growth of root & shoot as low cocentroation of Auxin and

cytokinin promotes shoot growth while higher ratio promotes root growth

76. Phytochrome is a
(1) chromoprotein
(2) flavoprotein
(3) glycoprotein
(4) lipoprotein
IEYauid w7 2 |
(1) HIHYTEA
(2) FAATIER
(3) TEHIUTEH
OEIELIIEE]
Ans (1)

Sol.  Phytochromes are chromoproteins

77. Which is essential for the growth of root tip?

(1) Mn 2) Zn (3) Fe (4) Ca

Tt @ 3fg @ foy fr=fafad % & d9-a1 emaegs 2 |

(1) Mn (2) Zn (3) Fe (4) Ca
Ans (1)

Sol.  Ca promotes the growth of root tip.
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78. The process which makes major difference between C3 and C4 plants is
(1) respiration
(2) glycolysis
(3) Calvin cycle
(4) photorespiration
frfafed § & 98 $19-W ufihan 8, S C3 3R C, UIedl & 919 & w4 9 fawg &=l 87
(1) Ta9
(2) g HIATSRIE
(3) dfeas =
(4) BT T9qT
Ans (4)
Sol. Photorospiration differentiat C; plants from C, plants due to having high CO, concentration around
RuBP in bundle sheath cells

79. Which one of the following statements is not correct?
(1) Water hyacinth, growing in the standing water, drains oxygen from water that leads to the death of
fishes.
(2) Offspring produced by the asexual roduction are called clone.
(3) Microscopic, motile asexual reproductive structures are called zoospores.
(4) In potato, banana and ginger, the plantlets arise from the internodes present in the modified stem.

frfaled § 9§ dH-91 FH 9L 76 2 |
(1) & Y oIl H ITH g oA SR it & AfeRior ©ig et @ oy 9sferan & 9g 81 ot 2|
(2) 2reiffis YS9 §RT SUS Al & FAF B8 Sl |
(3) geweeifa, =t srifiie o WRer gdt o] dwEerd 2 |
(4) 31T, AT MR B H UIGUD, HUART o A SURYT Ual | I Bl 8 |
Ans (4)

Sol.  Plantlet always arise from nodes of stem or modified stem
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80. Which one of the following in&generates new genetic combinations leading to variation?
(1) Nucellar polyembryony
(2) Vegetative reproduction
(3) Parthenogenesis
(4)Sexual reproduction
frfafed § 9 dH-a1 AT aF 9l T aRe Jare & I HRaTl 272
(1) SrovEHIR—G IgYorA
(2) F1RB ST
(3) &SI
(4) dfd S
Ans (4)

Sol. New genetic combination develops after sexual reproduction due to following reasons

(1) Crossing over during gamete formation

(2) Chance combination of gametic fusion

81. Match Column-l with Column-ll and select the correct option using the codes given below :
Column-l Column-ll
a. Pistils fused together (i) Gametogenesis
b. Formation of gametes (ii) Pistillate
c. Hyphae of higher Ascomycetes (iii) Syncarpous
d. Unisexual female flower (iv) Dikaryotic
Bicr-1 B DicH-l § Al PR T2 1 Y T FHE BT 91T IR |8l [Aved o1 g
PicTH-l PicH-ll
a. A H s S (i) gHDSTTT
b. JH®I BT T (ii) e
c. TR VDMSNCIS & had ag (i) aavsdl
d. TwfeiT wraT gu (iv) g
Codes:
a b c d
(1) (i) (i) (iv) (i)
(2) (iv) (i) () (ii)
(3) (ii) (i) (iv) (i)
(4) (i) (ii) (iv) (i)
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82. In majority of angiosperms
(1) a small central cell is present in the embryo sac:
(2) egg has a filiform apparatus
(3) there are numerous antipodal cells
(4) reduction division occurs in the megaspore mother cells
JFfdeprer argadion urgul #
(1) 401 B | T Y s DRI &l 2 |
(2) 3ve # dgwHY AT BT 2 |
(3) 9ga- A ufrerria HIReR B R |
(4) I favroE, oY) A1g BIRIERT § &dr 2|

Ans (4)

83. Pollination in water hyacinth and water lily is brought about by the agency of
(1) bats
(2) water

(3) insects or wind

(4) birds
S BRI 3R o gHfe § Wl fae gR1 B 87
(1) =wmES
(2) 51
(3) dIT IT Ya+
(4) uen
Ans (3)
84. The ovule of an angiosperm is technically equivalent to
(1) megaspore (2) megasporangium
(3) megasporophyll (4) megaspore mother cell
JATAEIS eyl BT dIovs qHAId! wd H fhas FHwel Bl 57
(1) Ty (2) TSR
(3) el (4) TSI A HIIHT
Ans (2)
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85.

Ans

86.

Ans

87.

Ans

Taylor conducted the experiments to prove semiconservative mode of chromosome replication on
(1) E. coli

(2) Vinca rosea

(3) Vida faba

(4) Drosophila melanogaster

TR 7 f5a o W PrRF afeiaT @ sgase Iy & il oxe & forg ww & forg win fasn
or ?

(1) So Preirs

(2) fa=pr AfFn

(3) faRman o

(4) SHAIfhe AR

(3)

The mechanism that causes a gene to move from one linkage group to another is called

(1) Corossing-over

(2) inversion

(3) duplication

(4) translocation

39 forarfafy &1 s SR U6 S 1 Feaidl 9 9 SN Geaidl §9Yg &I doll WKl 8 R’ HE
ST 27

(1) Sta-faf

(2) uferarm =

The equivalent of a structural gene is A true breeding plant is

(1) recon (2) muton (3) cistron (4) operon
fa=foRad & | I WRATHS S & FAE B |
(1) gRI9] (2) I (3) AHUR (4) TaATH

()
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88. A true breeding plant is
(1) Always homozygous recessive in its genetic constitution
(2) One that is able to bred on its own
(3) Produced due to cross pollination among unrelated plants
(4) near homozygous and produces offsspiring of its kind
Ans (4)
TP IRAfAD Yo+ UIey 8 7, ST fh
(1) 39 JATFARD TS H FHI FHOMA AYFTN B
(2) ST 3T TS R D

(3) 3rFg UIeUl & g W — WAV d IO [HAT AT B

(4) T FESITT B 3R AU ARE P WA ST BT B
Ans (4)

89. Which of the following rRNAs acts as structural RNA as well as ribozyme in bacterial
Jram] § FEfalad 3 9 S1F-A1 rRNAs SRaAs RNA 3R I1gaT6igd, I @1 ORE B BT 87
(1) 5-8s rRNA
(2) 5S rRNA
(3) 18 SrRNA

(4) 23S rRNA
Ans (4)

90. Stirred-tank bioreactors have been designed for
(1) ensuring anaerobic conditions in the culture vessel
(2) purification of product
(3) addition of preservatives to the product
(4)ailability of oxygen throughout the process

faeifed <& Sia Ruaex fa forg siffefera fd T 27

(1) wagi= aferdt # ardg <eml & R @w & fog

(2) el & glgmeor & forg

(3) Saurel # afRerdt @ fem & forg

(4) TRY UfShaT & SRM SRS 3 IR §9- W B oy
Ans (4)
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91.

Ans.

Sol.

92.

Ans.

Sol.

A molecule that can act as a genetic material must fulfill the traits given, except
(1) it should provide the scope for slow changes that are required for evolution
(2) it should be able to express itself in the form of 'Mendelian characters'

(3) it should be able to generate its replica

(4) it should be unstable structurally and chemicpally

Bl o) 4, Sl gl TRl & WU § BRI R GHal &, A9 A W 9 fRive & afaRew, s |l
faeye oawy B =fed?

(1) 399 e & fay mawas A uRad= & fay R gF1 =y

(2) 39 ArSolT TN’ & ®U § WA B ATdT B AG BT AN

(3) 3 3T g ST IRA AT BT ARy

(4) 39 WREATAS ©U W AR IR BY F IReR BT ARy

4)
Genetic material should be stable (chemically) otherwise its expression will change leading to loss in

several metabolic functions or inconsistency in expression.

DNA- dependent RNA polymerase catalyzes transcription on the strand of the DNA which is called the
(1) antistrand (2) template strand

(3) coding strand (4) alpha strand

DNA- 3menRd RNA WiferiRst DNA @ {5 U I59[d TR STl &1 IR Hal 27

(1) RS9 & (2) THAT 59D
(3) BreT ISdH (4) Ve®T T5dH
(2)

The strand of DNA on which RNA Polymerase binds to perform transcription is called template strand.
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93.

Ans.

94,

Ans.

Interespecific hybridization in the mating of

(1) more closely related individuals within same breed for 4-6 generations
(2) animals within same breed without having common ancestors

(3) two different related species

(4) superior males and females of different breeds

JraRTeeNoh Hawor § fraa g AN HRE ST 87

(1) 4-6 AT TF TH & T aTel TA AolaId o T Aaftedl & 9=
(2) 99 gaSl 7 Bl gY W U B A B Sigall d 4

(3) |1 IreT—3rerT FHfRa WSt & d g

(4) fAf=1 ==l a1t d8aR TRI a1 "Gl @ §im

(3)

Which of the following is correct regarding AIDS causative HIV?

(1) HIV does not escape but attacks the acquired immune response.

(2) HIV is enveloped virus containing one molecule of single-stranded RNA and one molecule of
reverse transcriptase.

(3) HIV is enveloped virus that contains two identical molecules of single-stranded RNA and tow
molecules of reverse transcriptase.

(4) HIV is unenveloped retrovirus.

AIDS & ITo® BRS HIV & IR § fF=fafed § @ sH—w1 |81 87

(1) HIV qreR 81 et a1 W Iuifofa uforelt orgfihar W amspheor o 2 |

(2) HIV & aga arsk¥ 2, R WidRk Udd I59)@ aiel RNA &1 U@ (Y] 3R SohA gyl &l b
3] BT B |

(3) HIV & 31gd arsvd &, s Wik Tdhd Io9jd arel RNA @ &1 |HM 9] T ShH SIS & al
3] B B |

(4) HIV T&% 3F1qd U¥d areRd 2 |
(1)
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Sol. HIV attacks helper T cells and not try to hide from them.
HIV 98r1d T HIRTEHISH TR STHAY FRAT © 91 399 W DI UM $HT A9 8] AT & |

95. Among the following edible fishes, which one is a marine fish having rich source of omega-3 fatty
acids?
(1) Mackerel (2) Mystus
(3) Mangur (4) Mrigala
frfaRed @ra wefedl § @ 98 S9— T 98l ©, Sl -3 T4 3l I I<iH FAid 87
(1) Hehvel (2) e
(3) AR (4) fomet
Ans. (1)
96. Match Column-I with Column-Il and select the correct option using the codes given below:
Column-I Column-II
a. Citric acid (i) Trichoderma
b. Cyclosporin A (ii) Clostridium
c Statins (iii) Aspergillus
d. Butyric (iv) Monascus
P -1 3R -1l 9= e BV Jon = A ™ g &1 T8 R |8 [FTbead 31 g
PIcTH-1 Bicta-l
a. fife® o (i) STgPISH
b. ATSFARTRT A (ii) FARefeTH
. wefes (i) VR
d. FfeRe s (iv) A
e
a b c d
(1) (i) (v) () (ii)
(2) (i) (i) (ii) (iv)
(3) (i) (i) (iv) (i)
(4) (i) (iv) (i) (iii)
Ans. (3)
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97.

Ans.

Sol.

98.

Ans.

99.

Biochemical Oxygen Demand (BOD) may not be good index for pollution for water bodies receiving

effluents from

(1) sugar industry

(2) domestic sewage
(3) dairy industry

(4) petroleum industry

fefafea 4 9 fode IEd & $RU UG BF 9l Sd—erl § S e SifeieE A4

(BOD) Ug¥YT & folT Y& 38T Jad -Tal 87
(1) TTHT T

(2) T arfed A

(3) 5 arfed A«

(4) erferd e

(4)

BOD is measure of Oxygen required by microbes to remove biodegradable chemicals

The principle of competitive exclusion was stated by
(1) Verhulst and Pearl

(2) C. Darwin

(3) G. F. Gause

(4) MacArthur

e o= & W &1 ufured feae faar o

(1) WgRE 3R U
(2) . sifds

(3) Sft. T®. T
(4) H@H3MR

()

Which of the following National Parks is home to the famous musk deer or hangul?
(1) Dachigam National Park, jammu & Kashmir

(2) Keibul Lamjao National Park, Manipur

(3) Bandhavgrah National Park, Madhya Pradesh

(4) Eaglenest Wildlife Sanctuary, Arunachal Pradesh
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foeara SR g1 reran € ffaRea Iy SemEr § | FEE U ST 27
(1) ST TR T, T 3R HIAR

(2) PG AT ST IETH, AR

(3) SiEaTTE T S, A UQT

(4) SRS IS IRV, IR0 T

Ans. (1)

100. A lake which is rich in organic waste may result in
(1) mortality of fish due to lack of oxygen
(2) increased population of aquatic organisms due to minerals
(3) drying of the lake due to algal bloom
(4) increased population of fish due to lots of nutrients

Fafd SURTe § w_I fodl sfia § = 81 |waan 27

(1) RIS B N B HRY ABf Al BT TR ST

(2) WSl & BRYT STy Sfdl @) wfe # gfg

(3) YATA—THed & BRUT A BT G A

(4) 31 UIvd YSTA & HRUT ABfadl B wEfe H gfg
Ans. (1)

Sol. Lake with large amount of organic waste will increase BOD of water since microbes will use more

Dissolved Oxygen to degrade organic matter

101. The highest DDT concentration in aquatic food chain shall occur in

(1) eel (2) phytoplankton
(3) seagull (4) crab
T Wre—4edl # Afdhad DDT &) digal faad grei?
(1) g PRIECEEED
(3) qHET T (4) DDSI
Ans. (3)
Sol.  Bioamplification of nondegradable chemicals is seen as we move upwards in trophic level and thus in

Sea gull (bird) level of DDT will be maximum.
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102.  Which of the following sets of diseases is caused by bacteria?
(1) Herpes and influenza
(2) Cholera and tetanus
(3) Typhoid and smallpox
(4) Tetanus and mumps
A @7 ol § 9 PE-—a1 g Sfarget gR1 GHfd g @
(1) 84T 3R T7FITM
(2) &7 R feeTs

(3) TTSHIgS AR YAH iU

(4) feeT9 iR TTagan
Ans. (2)

103. Match Column-I with Column-Il for housefly classification and select the correct option using the codes

given below :
Column-I Column-II
a Family (i) Diptera
b. Order (i) Arthropoda
C Clsass (iii) Muscidae
d. Phylum (iv) Insecta
W AR & PR B fI Dicd-| 3R Dicw-ll § A= SR Jon A= i W Fe &1 93 wR F2
fawen g
PicTH-| CacLal!
a. el (Biien) (i) fewexr
b. T (3TR) (ii) smertarsT
. I (FATH) (iii) RS
d. HH (Brserm) (iv) 99T
Codes @c
a b C d
(1) (iv) (i) (i) (iii)
(2) (i) (i) (iv) (i)
(3) (i) (i) (iv) (i)
(4) (iv) (i) (i) (i)
Ans. (2)
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104. Choose the correct statement.
(1) All Pisces have gills covered by an operculum.
(2) All mammals are viviparous.
(3) All cyclostomes do not possess jaws and paired fins.
(4) All reptiles have a three-chambered heart.
FE B A |
(1) |t Aefol § oM yTee 9 €@ gU B B |
(2) Tt TTER) FolauST® 2 |
(3) @ ATgFeReEl § oes qU1 AT T T B 2 |
(4) Tt T8gUl § oDl geg B B |
Ans. (3)

105.  Study the four statements (A - D) given below and select the two correct ones out of them :

A. Definition of biological species was given by Ernst Mayr.

B. Photoperiod does not affect reproduction in plants.

C. Binomial nomenclature system was given by R. H. Whittaker.

D. In unicellular organisms, reproduction is synonymous with growth.

The two correct statements are

(1) Aand B (2)Band C

(3)CandD (4)Aand D

o & T IR HUAT (A - D) BT eI BV MR STH | A Wl FUAT B gAY ¢

Sig TS @Y gfRYNT 3 JRR 4 <1 2|

A

B. TRILIHTA BT Wl & S W JHG T8l Il 2 |
C. fgm AuEfd 93 oR. Ta. fadar o Qo
D. THHIRG Sfial § o= &R gfg aamed® 8 2|
a1 e P ¢ |

(1)A3RB (2)BalR C
(3)C3IRD (4) AR D
Ans. (4)
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106.

Ans.

107.

Ans.

108.

Ans.

In male cockroaches, sperms are stored in which part of the reproductive system?

(1) Vas deferens

(3) Mushroom glands

(2) Seminal vesicles
(4) Testes

R fe@ee # gam] saaas @ fFa W #§ weiRa &d 27

(1) Yspared
(3) AeTHA TR
(2)

Smooth muscles are

(1) voluntary, spindle-shaped, uninucleate
(2) involuntary, fusiform, non-striated

(3) voluntary, multinucleate, cylindrical

(4) involuntary, cylindrical, striated

fa Uei B 2 |

(1) VUfe®, aghadl, [@h=wd

(2) amifee®, dHey, SRR

(3) Vfo®, Tga=d, TATTBR

(4) eMfeed, TaTHR, IRaT

(2)

Oxidative phosphorylation is

(1) formation of ATP energy released from electrons removed during substrate oxidation

(2) T
(4) g1

(2) formation of ATP by transfer of phosphate group from a substrate to ADP.

(3) oxidation of phosphate group in ATP
(4) addition of phosphate group to ATP
Jfrfsfed BRpIRETT BIar §

(1) PR & SifRARTT & SR FAde & AT fHd M | ST~ Holl gRT ATP &1 i
(2) U fHagR F ADP @& BT I & IR0 §RT ATP &1 fa#for

(3) ATP ¥ ®i¥he a7 &1 SaIHRoT
(4) Biebe 97 w1 ATP H S8 M1
(1)
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Sol.  Oxidative phosphorylation occurs when NADH" + H" or FADH, are oxidized and their electron enters in

ETC creating proton gradient which finally produce ATP in Fo-F4 particle.

109. Which of the following is the least likely to be involved in stabilizing the three-dimensional folding of

most proteins?

(1) Ester bonds (2) Hydrogen bonds
(3) Electrostatic interaction (4) Hydrophobic interaction
e W & Ffad aom @1 Rer wm # ffalea § 9 fae 9ga &0 Gva 27
(1) TFX 39y (2) TTESISH AEY
(3) ReRrde@ yrRwR® aifdfoan (4) STaTe aRR® 3rfafshar
Ans. (1)
Sol.  Ester bonds are formed in nucleic acids and lipids, but not proteins.

R 9y, Yfaedd vl g forfiew # a9 &, MdE § T |

110.  Which of the following describes the given graph correctly?

Potential | sypstrate

Energy

Product

Reaction ——>

1) Exothermic reaction with energy A in absence of enzyme and B in presence of enzyme
2

(1)

(2) Endothermic reaction with energy A in presence of enzyme and B in absence of enzyme
(3) Exothermic reaction with energy A in presence of enzyme and B in absence of enzyme
(4)

4) Endothermic reaction with energy A in absence of enzyme and B in presence of enzyme.

RESONANCE EDUVENTURES LTD.

CORPORATE OFFICE : CG TOWER, A-46 & 52, IPIA, NEAR CITY MALL, JHALAWAR ROAD, KOTA (RAJ.) - 324005
REG. OFFICE : J-2, JAWAHAR NAGAR, MAIN ROAD, KOTA (RAJ.)-324005 | PH. NO.: +91-744-3192222
PH.NO. : +91-744-3012222, 6635555 | TO KNOW MORE : SMS RESO AT 56677
WEBSITE : WWW.RESONANCE.AC.IN | E-MAIL : CONTACT@RESONANCE.AC.IN | CIN : U80302RJ2007PLC024029
Toll Free : 1800 258 5555 08003 444 888 facehook,com/ResonanceEdu ntwitter.corn/ResonanceEdu www,youtube.com/resowamh E blog.resonance.ac.in

THIS SOLUTION WAS DOWNLOAD FROM RESONANCE NEET 2016 PHASE-II SOLUTION PORTAL PAGE # 25




Resonance” | NEET_2016 (PHASE-Il) | 24-07-2016 | PAPER CODE-BB,QQ,XX

f=ffaa & & 9—a1 Y am% &1 &) IuiF HRar 27

HAfha —
(1) ol A D A1 ToTgd $I U 7 3R B A1 Yolsd & IulRAfd 3§ qreassh sifafsman
(2) Soil A D A1 Tollgd &1 SURITY # iR B UsTsd &1 rguiRerid # 3favesi rfafehar
(3) ol A 12T Uolisd @l IURAfT 3 3R B Ualigd &1 srgulRefd 3§ qraresi rffshan
(4) ol A D A1 TSligH $I IuRefd 3§ 3R B & W1I Uolisd & SuRAfd 3§ aidRs™ sifafshar
Ans. (3)

111. When cell has stalled DNA replication fork, which checkpoint should be predominantly activated?
(1) Both Go/M and M
(2) Gy/S
(3) Go/M
(4)M
S/ PIRBT § DNA sidefia fgemre v o 8, a9 fea Sife—fig &1 g9 w9 @ |fbRa $=e
ElIE
1) Go/M &R M S

)
2) G4/S
3) Go/M
4HM
Ans. (3)

Sol.  G,/M check point ensures that DNA Replication is complete and no error is left.

(
(
(
(
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112. Match the stages of meiosis in Column-I to their characteristic features in Column-ll and select the

correct option using the codes given below :

Column- Column-ll
a. Pachytene (i) Pairing of homologous chromosomes
b. Metaphase | (i) Terminalization of chiasmata -
c. Diakinesis (iii) Grossing-over takes place
d. Zygotenev (iV) Chromosomes align at equatorial plate
Codes:
a b c d
(1) (iv) (i) (i) (i)
(2) (i) (v) (i) (i)
3) (i) (iv) (i) (iii)
(4) (i) (iv) (i) ()

Bfed-l § & T RGN fA9eH & A= srawensil &1 dicH -l # A ™ 9% faftre daol & a1

e IR don T A T g &1 bW wR FE Aeed B g

Column-l Column-ll

a. UBIdH (i) TS TOREAT BT T

b. HTTH | (WeaTa=er-) (ii) PIIVSHET BT FHAIA

C. SRR (iii) Sh=1 fafs e 2

d. SN (iV) PrIF AeFadl ued) R gaRerd & W ®
Codes:

a b c d

(1) (iv) (iii) (i) (i)

(2) (iii) (iv) (i) (i)

(3) (i) (iv) (i) (iii)

(4) (i) (iv) (iii) (i)
Ans. (2)

113. Which hormones do stimulate the production of pancreatic juice and bicarbonate?

(1) Insulin and glucagon

(2) Angiotensin and epinephrine
(3) Gastrin and insulin
(4)

4) Cholecystokinin and secretin
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Ans.

Sol.

114,

Ans.

Sol.

115.

DI W B T W 3R IISHETE & SATGT Bl ST IR & ?

(1) SGfert iR 7ot

(2) IR iR TiHfe

(3) Mg aiR ggfer

(4) PrARREIBRMAT 3R Amfea
(4)

Pancreatic juice rich in enzymes is secreted under influence of cholecystokinin, while pancreatic juice

rich in bicarbonates is secreted under influence of secretin.

TSATSAT ¥ TgR SRR ¥4, BINRCIag= & 99d § Hifdd fhar Siar 8, Safd qisdEi-cd 3 UgR

IR ¥ Rifspda & gwrg # wnfaa fear <imn 8 |

The partial pressure of oxygen in the alveoli of the lungs is

(1) less than that of carbon dioxide

(2) equal to that in the blood

(3) more than that in the blood

(4) less than that in the blood

Bl B BABRT # SRS @1 3rfle g9 el §
(1) w1 STRATFARE B IS I19 F FH

(2) TR # iAo &) 3Mf¥® qE & aRER

(3) TR # ff=io & Nif¥e <9 | Afds

(4) SRR F ifedo @t AR® @ | HH

(3)

pO, in Alveoli is 104, while in oxygenated blood, it is 95.

Hfawreit § pO,, 104 BT B, Safd Sffeiaifa Yo § I8 95 BIT ¢ |

Choose the correct statement.
(1) Receptors do not produce graded potentials.
(2) Nociceptors respond to changes in pressure.

(3) Meissner's corpuscles are thermoreceptors.

(4) Photoreceptors in the human eye are depolarized during darkness and become hyperpolarized in

response to the light stimulus.
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qE B IR

(1) & B fava ST T8 B B

(2) MRRITER @ # uRad+l & ufd ergfesan a=a 2|

(3) R SRR arImEl B B |

(4) 7 = ¥ THRIEE IR 7 AgRd 8 I ® iR yete & SEEE @1 egfhar #§ arfagfad gem B
Ans. (4)

Sol. Photoreceptors in the human eye are depolarized during darkness and become hyperpolarized in

response to the light stimulus.

116. Graves' disease is caused due to
(1) hypersecretion of adrenal gland
(2) hyposecretion of thyroid gland
(3) hypersecretion of thyroid gland
(4) hyposecretion of adrenal gland
YT AT BT HROT BT &
(1) VS Ufd @1 rfareraon
(2) UTERISS U BT TR
(3) arRIgs U o1 Srfaeaun
(4) TS U BT IR

Ans. (3)

Sol.  Graves' disease is caused due to hypersecretion of thyroid gland

117.  Name the ion responsible for unmasking of active sites for myosin for cross-bridge activity during

muscle contraction.

(1) Potassium (2) Calcium
(3) Magnesium (4) Sodium
el Hgee & SR - fhar & fog AR @ afha el B SR wRA @ forg IRerRf smae
BT A AT |
(1) dreferr (2) Bfrrm
(3) #hifRr (4) ST
Ans. (2)
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Sol.

118.

Ans.

Sol.

119.

Ans.

Calcium ion is responsible for unmasking of active sites for myosin for cross-bridge activity during

muscle contraction

Name the blood cells, whose reduction in number can cause clotting disorder, leading to excessive loss

of blood from the body.

(1

) Thrombocytes
(2) Erythrocytes
)

)

(3) Leucocytes
(4) Neutrophils
I wfeR PIRGRT & A9 Ia13d, N 91 § 1 819 R Bk UFhT gihar § TedS 8l Ahdl ©,

IR P BRI IRR A P BR 98 FHhaT 2 |
(1) fdamy @rrarse)

(2) X&) (TReITSE)

(3) T (cgPTETES)

(4) SHIRST (gifthe)

(1)

Thrombocytes

Name a peptide hormone which acts mainly on hepatocytes, adipocytes and enhances cellular glucose
uptake and

utilization.

(1) Gastrin

(2) Insulin

(3) Glucagon

(4) Secretin

I UUCTES BN &1 M qasd Sl YIHG: IJHAvs (BUrcrarge)) AR Jamvsi (TfsuRigel) ® u4a
STl & T DIRIGT §RT TGHTE & AT AT IHDH SN DI E@] <l ¢ |

(1) iRz
(2) ggfers
(3) T
(4) Tfed
()
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Sol.

120.

Ans.

Sol.

121.

Ans.

Sol.

Insulin is a peptide hormone which acts mainly on hepatocytes, adipocytes and enhances cellular

glucose uptake and utilization.

Osteoporosis, an age related disease of skeletal system , may occur due to
(1) accumulation of uric acid leading to inflammation of joints

(2) immune disorder affecting neuromuscular junction leading to fatigue

(3) high concentration of Ca™ and Na*

(4) decreased level of estrogen

JRARAT, T FdHId FT TH JY—Fw== A7 B, s HRUT 81 Fahar 2 ?
(1) IR® 7T BT THATHIV, oTd HRUT S gol I 2 |

(2) uferen—faera, S dfvefi SieeM R g99 STefdn ®, e SR g6 8 B |
(3) Ca'™ 3R Na" @ =g |igal

(4) TS & R § HH

(4)

Osteoporosis, an age related disease of skeletal system , may occur due to decreased level of

estrogen

Serum differs from blood in
(1) lacking antibodies

(2) lacking globulins

(3) lacking albumins

(4) lacking clotting factors

WR¥ SR ¥ &1 81 8, RifS
(1) 3&¥ yfafivs & g

(2) S9H Tergferd & B
(3) S VegfAT el B

(4) 399 Thed RSP &l BN
(4)

Blood Plasma-—clotting factors =Serum
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122. Lungs do not collapse between breaths and some air always remains in the lungs which can never be
expelled because
(1) pressure in the lungs is higher than the atmospheric pressure
(2) there is a negative pressure in the lungs
(3) there is a negative intrapleural pressure pulling at the lung walls
(4) there is a positive intrapleural pressure

A o & 99 B e T8 O IR ANE—9gd B9 BHsl # ¥l 9+ W&t 8 e qreR e T8
1 AHAT [ R®ifh
(1) BB & HIR &I IMq, IGASA Bl I | AfE Bt B |
(2) BBSI B €19 FKUMHSB 19 B B |
(3) OIS JAFHA <19 Bl & 9 BHe! dl MR B U6 g 9 ¥ died) B0 8 |
(4) gITHS SRR &9 B 2 |
Ans. (3)

Sol.  Lungs do not collapse between breaths and some air always remains in the lungs which can never be

expelled because there is a negative intrapleural pressure pulling at the lung walls

123. The posterior pituitary gland is not a 'true' endocrine gland because
(1) it secretes enzymes
(2) it is provided with a duct
(3) it only stores and releases hormones
(4) it is under the regulation of hypothalamus
geg feged UfY ‘arafas’ aerd 7y 7 el ®, Fife
(1) T8 TSIIgHI BT AT Bl &
(2) SH@T TP arfedl BRi ©
(3) U8 A B Had HSIRT dxal & AR sp1RIg axelt B 1

(4) T8 ENYHA B AT B e B B

Ans. (3)
Sol. The posterior pituitary gland is not a 'true' endocrine gland because it only stores and releases
hormones
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124. The part of nephron involved in active reabsorption of sodium is
(1) descending limb of Henle's loop
(2) distal convoluted tubule
(3) proximal convoluted tubule
(4) Bowman's capsule
Ans. (3)
BT BT g8 WM, S QISTH & AfHT YA BT PR HRaAl B, B
(1) T URIGST BT AR UG
(2) X% Haferd Afera
(3) et Fafera Aferadr
(4) 99 HYS

Sol.  The part of nephron involved in active reabsorption of sodium is proximal convoluted tubule

125. Which of the following is hormonereleasing lUD?

(1) Cu7 (2) LNG-20
(3) Multilpad 375 (4) Lippes loop
fr=fafad # @ d9—w1 gMHE—fTtas 1UD 8T g 2
(1) Cu7 (2) LNG-20
(3) ATaArE 375 (4) foras ureTgSet
Ans. (2)
Sol. LNG-20 is hormone releasing IUD clotting factors

126. Which of the following is incorrect .regarding vasectomy?
(1) Irreversible sterility
(2) No sperm occurs in seminal fluid
(3) No sperm occurs in epididymis
(4) Vasa deferentia is cut and tied

YHaEd—Swad d IR H FEfalad § F S Tad 2 ?
(1) FhACTY eI

()& # gepro] T B

(3) ThRfSfEfia & gy 78t B

(4) YHATED DY BICHR dfe feaT ST ®
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Ans. (3)

Sol.  No sperm occurs in epididymis

127. Embryo with more than 16 blastomeres formed due to in vitro fertilization is transferred into
(1) cervix
(2) uterus
(3) fallopian tube
(4) fimbriae
o3 T gR1 fAfd 16 9 31fs dREGES! (GIRTIHERI) arel YuT &1 RIFaRd &R f&ar S 2—
(1) Frar 3
(2) i |
(3) BTl Telt |
(4) e #
Ans. (3)

Sol.  Embryo with more than 16 blastomeres formed due to in vitro fertilization is transferred into uterus

128.  Which of the following depicts the correct pathway of transport of sperms?
(1) Efferent ductules — Rete testis —» Vas deferens — Epididymis
(2) Rete testis —» Efferent ductules — Epididymis — Vas deferens
(3) Rete testis » Epididymis — Efferent ductules — Vas deferens

(4) Rete testis —» Vas deferens — Efferent ductules — Epididymis

71§ DIF—a1 YPopeli & IRTET S 9 B el ®U A FA 8 ?
(1) JruarEY arfferl — T Sferdt — gemaes — TRfSRfAa
(2) guOT SATferdT — fuaTE! arfe Rl — SRS — wHares
(3) IToT STt — TR — s amfeferl — ywares
(4) 0T SAFADT — YehaTed —> QTS el — TfSffia
Ans. (2)

Sol.  The correct pathway of transport of sperms is

Rete testis — Efferent ductules — Epididymis — Vas deferens
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129. Match Column-l with Column-ll and select the correct option using the codes given below :
Column-| Column-ll
a. Mons pubis (i) Embryo formation
b. Antrum (i) Sperm
c. Trophectoderm (iif) Female external genitalia
d. Nebenkern (iv) Graafian follicle
Codes:
a b c d
(1) (i) (iv) (i) (i)
(2) (i) (v) (i) (i)
3) @iy (v) () (i)
(4) (i) (i) (iv) (i)
B -l AR B -l & 9 e FIRR Ton = Y T FHe &1 918 IR |81 [Fevea o1 g
Pier-l e -l
a. /g e (i) ¥o1 I
b. TgaR (i) Zgep1Y]
c. THICIeH (iii) ATET 9T SR
d. = (iv) IT®! ge&h
Codes:
a b c d
(1) (i) (iv) (i) (i)
(2) (i) (v) (i) (i)
3) @iy (v) () (i)
(4) (i) (i) (iv) (i)
Sol. Column-l Column-lI
a. Mons pubis —Female external genitalia
b. Antrum — Graafian follicle
c. Trophectoderm — Embryo formation
d. Nebenkern — Sperm
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130.

Ans.

Sol.

131.

Ans.

Several hormones like hCG, hPL, estrogen. progesterone are produced by
(1) pituitary

(2) ovary

(3) placenta

(4) fallopian tube

§B B, 9 hCG, hPL, T&IoH, UIoRe’= ®al Scd+ 81 & ?

(1) foeged Ui

(2) ISR

(3) 3T

(4) BATdT el

(3)

Colour blind man Normal homozygous women
XY XX

Genotype of son — XY- normal vision

Son receives Y chromosome from father and X chromosomes from mother

If a colour-blind man marries a woman who is homozygous for normal colour vision, the probability of
their son being colour-blind is

(1)1

(2)0

(3)05

(4)0.75

T Uiy JHY U U1l § fda18 Rar B, S M 0 g @ forg aHg s 8 | S gF @ Uiy

B P G9aT a7 B ?
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132.

Ans.

Sol.

133.

Ans.

Sol.

134.

Genetic drift operates in

(1) slow reproductive population

)

(2) small isolated population

(3) large isolated population
)

(4) non-reproductive population
MRS faare (Jrudre) FHaf arm 87
(1) A 9 H ST T

(2) B faafa aafe

(3) S faafa wHfe

(4) IISTE FHie

(2)

Genetic drift operates in small isolated population

In Hardy-Weinberg equation, the frequency of heterozygous individual is represented by

(1) q2 (2) p2
(3) 2pq (4) pq
Ei—argaaTt TR # Ryl afe o e &1 feuer e g & ?
(1) q2 (2) p2
(3) 2pq (4) pq

()

In Hardy-Weinberg equation, the frequency of heterozygous individual is represented by 2pq

The chronological order of human evolution from early to the recent is
(1) Australopithecus — Homo habilis — Ramapithecus — Homo erectus
(2) AustraloPithecus — Ramapithecus — Homo habilis - Homo erectus
(3) Ramapithecus — Australopithecus— Homo habilis - Homo erectus

(4) Ramapiihecus — Homo habilis — Australopithecus— Homo erectus

MMfeATa 4 31fa AFd Tb A4 AP BT BIATIHAD HH © °
(1) g afid®Ed — g gfdfed — ImfigE — 8 sRaed
(2) SR fg®d — ImIfged - B 2fefe - B Raed

(3) IFRYHH — R AfIIFHT - B 2Rfer — B o

(4) IEMIgEE — B 2fRfer - e Afg®Ed - 8l RNaed
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Ans.

Sol.

135.

Ans.

Sol.

(3)
The chronological order of human evolution from early to the recent is

Ramapithecus — Australopithecus— Homo habilis — Homo erectus

Which of the following is the correct sequence of events in the origin of life?
I. Formation of protobionts

II. Synthesis of organic monomers

[1l. Synthesis of organic polymers

IV. Formation of DNA-based genetic systems

ININA
) 11, 1, IV

@)1, 10,11, IV
@1,V

frfafed § 9 s Shaw &) IRy § gcRll &1 98 o/ gHH 27
| anfesidt @1 oo

. BTEH AFFART BT FLATT

1. BTE® UTAHRI BT AT

IV. DNA-TR 3nenRa SmgaRRie a1 &1 fFfor

NRINA
) 11, 11, IV
@)1, L1, 1V
@) 1, 1, 1V
(4)

The correct sequence of events in the origin of life is

Synthesis of organic monomers — Synthesis of organic polymers — Formation of protobionts

— Formation of DNA-based genetic systems
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136.

Ans.

Sol.

137.

Ans.

Sol.

138.

Ans.

PART C — PHYSICS

A person can see clearly object only when they lie between 50 cm and 400 cm from his eyes. In order
to increase the maximum distance of distinct vision to infinity, the type and power of the correcting lens,
the person has to use, will be :

(1) conves, +0.15 diopter (2) conves, +2.25 diopter

(3) conves, —0.25 diopter (4) conves, —0.2 diopter

T Ffth U aff § dadt 50 cm T 400 cm 8 & i Rerd awqall &1 W @ FHA1 © | G

T B AHTA N DI 3 TS B B oY S9 Ak DI 6w ISR & iR fha ote & Fees o
DI IMaTIHAT BN P

(1) 3T, +0.15 SRR (2) ST, +2.25 SRTEX
(3) 3rade, —0.25 SRR (4) g, 0.2 SHIeR
(3)
1 1 1 1 1 1
- == = - =
v u f —-4m o f
1 1
= f=—4m = power=?=—4=—0.25D

A linear aperture whose width is 0.02 cm is placed immediately in front of a lens of focal length 60 cm.
The aperture is illuminated normally by a parallel beam of wavelength 5 x 107 cm. The distance of the
first dark band of the diffraction pattern from the centre of the screen is :

0.02 cm @SS & UH Y& RS P 60 cm HIdd X & (4l o & fHdHe FMA @1 T 8 | §RS DI
5x 10° cm TR & TH P GHRR [HROMYS gRT 9aq THRE 5 1 21 o< fagds Yo &
T I I B U b D A g3 8RN |
(1) 0.15 cm (2) 0.10 cm (3) 0.25 cm (4) 0.20 cm
(1)
Position of I* minima
_MD _ (5x1078)(0.6)
a  0.02x1072
y=0.15cm

Electrons of mass m with de-Broglie wavelength A fall on the target in an X-ray tube. The cutoff
wavelength (o) of the emitted X-ray is :

frd) X-foxor Al & T8 W L S—dTell R T m THAT B Fided ShRIA = | Soaford X-fhvor
B A (3dH) TR (L) BT HIF &I |

_ 2mch? 2h 2m?%c2®
(1) ko =2 (2) ho == (3) 2o =—" (4) %o=h—2

RESONANCE EDUVENTURES LTD.

CORPORATE OFFICE : CG TOWER, A-46 & 52, IPIA, NEAR CITY MALL, JHALAWAR ROAD, KOTA (RAJ.) - 324005

REG. OFFICE : J-2, JAWAHAR NAGAR, MAIN ROAD, KOTA (RAJ.)-324005 | PH.NO.:+91-744-3192222
PH.NO. : +91-744-3012222, 6635555 | TO KNOW MORE : SMS RESO AT 56677

WEBSITE : WWW.RESONANCE.AC.IN | E-MAIL : CONTACT@RESONANCE.AC.IN | CIN : US0302RJ2007PLC024029

Toll Free : 1800 258 5555 08003 444 888 facehook,com/ResonanceEdu ntwitter.corn/ResonanceEdu www,youtube.com/resowamh Eblog.resonance‘ac.ir

THIS SOLUTION WAS DOWNLOAD FROM RESONANCE NEET 2016 PHASE-II SOLUTION PORTAL PAGE #1




Resonance” | NEET_2016 (PHASE-Il) | 24-07-2016 | PAPER CODE-BB,QQ,XX

h2
_Pz_@_ h?

Sol. K.E. of electrons = — = ~~~2_=
2m

So maximum energy of photon will also be this much.

he _ h? _ 2mcp?
— = =
Ao 2mA? h

139.  Photons with energy 5 eV are incident on a cathode C in a photoelectric cell. The maximum energy of
emitted photoelectrons is 2 eV. When photons of energy 6eV are incident on C, no photoelectrons will
reach the anode A, if the stopping potential of A relative to C is :

e g 9 & BT (M) C W 5eV Sull & BIeH AT B 2 | SfTd USRI geiag i
P APIT AT SHoit 2eV 81 6 eV Holl & Bl & C TR AUfad 8 R Pis W YBIRd soiag=
VIS (@FH) A 9% T8 g, Ife C & Ame A &1 AR fawa 2
(1)=3V (2) +3V (3) +4 V @) -1V
Ans. (1)
Sol.  Kmax=hv—o
2eV=5eV-¢ = ¢=3eV
So Vg = 3 volt
Veathode = Vanode = 3 VOIt

Vanode — Veathode = — 3 VoIt

140. If an electron in a hydrogen atom jumps from the 3rd orbit to the 2nd orbit, it emits a photon of
wavelength A. When it jumps from the 4th orbit to the 3rd orbit, the corresponding wavelength of the
photon will be :

el BTSgIoT WA H§ T4 TS Soidgid g Hell & g Hell § HHHol HRdl 8, Al A TR B
HICH IFRIT BT 2 | AR gerag= aged Fem | J T § AHA B, @) BieH B G aviasd

BT |
20 16 9 20

1) —A 2) —A 3) —A 4) —A

()13 ()25 ()16 (=
Ans. (4)

1 1 1
Sol. —=Re| —-—

A (22 32j

1 1 1

— =Re| — ——

e

dividing A' = ?k Ans.
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141.

Ans.

Sol.

142,

Ans.

Sol.

143.

Ans.

The half-life of a radioactive substance is 30 minutes. The time (in minutes) taken between 40% decay
and 85% decay of the same radioactive substance is :

e Nfearafsra ua1ed o srd—amyg 30 fed & | S XfSAIfha usted & 40% & & 85% I & B H
o qEg (el #) B

(1) 60 (2) 15 (3) 30 (4) 45
(1)

N1 =0.6 NO

N2 =0.15 NO

N, (1)

—2 = [—J so two half life period has passed

N, 2

so time taken = 2ty = 2 x 30 = 60 minutes Ans.

For CE transistor amplifier, the audio signal voltage across the collector resistance of 2 kQ is 4V. If the
current amplification factor of the transistor is 100 and the base resistance is 1 kQ, then the input signal
voltage is :

fodl CE gifSRexr wags # \umed ufeRig 2 kQ 2 | 39 RRI & 19 510 dava (Sfifsar Ryger) dreean 4v
2| Aft gIReR &1 gR1 yada o 100 T MER UfR1g 1 kQ &, a1 99 9@ dieedn &1 99 8 |

(1) 15 mV (2) 10 mV (3) 20 mV (4) 30 mV
)
R
Ay = B out
Rin
A\,=100><2k—Q = Ay =200
kQ
Vv,
Ay = ( out )AC =200 = (Vin)ac = g 200 mV Ans.
(Vm )AC 200

The given circuit has two ideal diodes connected as shown in the figure below. The current flowing
through the resistance R; will be :

3 e SIS B URYY H A A oiR@ # ¥R W SgER Sirel W1 © | Ry UkR1g & yarfed gRT &1
A B |

20
——WWW
R4 o b,
10V —
R, 230 R;220Q
(1)3.13A (2)2.5A (3)10.0 A (4)1.43 A

(2)
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Sol. The diode D, will be be in reverse bias, so it will block the current and diode D will be in forward bias,
so it will pass the current

: 10
i =

= =25A Ans.
2+2

144. What is the output Y in the following circuit, when all the three inputs A, B, C are first 0 and then 1 ?
T A W uRuy § f/ Y @& g, Safd A g A, B, C IR # 0 (3) d1 fiR 1 (T@) & ?

5 L= s
Co Q Y
(1)1, 1 )0, 1 (3)0,0 4)1,0
Ans. (4)
A 1 -
=D =neps
Sol. ©9o 9 1 c

145.  Planck’s constant (h), speed of light in vacuum (c) and Newton's gravitational constant (G) are three
fundamental constants. Which of the following combinations of these has dimension of length?

Gce JhG JhG hc
(1) ,/hw (2) P (3) P (4) S

afe wiie ReRi® (h), Fafd # gSm &1 97 (c) T2 e &1 (o ReRid (G) T Aiferd Rerias &
fr=fafead # 9 feae fom o erf St o1E @1 8t 27

Gc vhG vhG hc
(1) ,/W (2) 32 @) 5z (4) S
Ans. (2)

Sol. L= (h)(c)(G)
m°L1T° _ (m1L2T_1 )9 (L1T_1 )B (m—103-|-—2)c

a-c=0, 2a+b+3c=1, —a—-b-2c=0
solvingb=-3/2,a=1/2,c=1/2

_ JhG

L= 372 Ans.
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146.

Ans.

Sol.

147.

Ans.

Sol.

Two cars P and Q start from a point at the same time in a straight line and their positions are
represented by x,(t) = at + bt* and xq t)y="ft-— t°. At what time do the cars have the same velocity

(1)2f—a (z)a_—f 3) a+f (4) a+f
(1+b) 1+b 2(b 1) 2(1+b)
3 PR PIA QUH & 999 W B g A A= Y@ # =1 IR SRl 2 AR 37 Reafddi &1

A X,(t) = at + bt’ TAT xq (t) = ft — *F Frefd e Sar ¥ | fra I99 R 39 = B 97 G0  ?

f-a a—f a+f a+f
M 2(1+b) @1 3 2(b—1) @ 2(1+b)
(1)
Vp=VQ
a+2bt="f—2t — o 1@ Ans.
2(b+1)

In the given figure, a = 15 m/s® represents the total acceleration of a particle moving in the clockwise
direction in a circle of radius R = 2.5 m at a given instant of time. The speed of the particle is

(1) 6.2 m/s (2) 4.5 m/s (3) 5.0 m/s (4) 5.7 m/s
SR T ARG § R=25m Froar & queR 9o W Sfeondgd 1 BRd gy Bl U B o @ROT B

forefl &1 a = 15 m/s®> W refid fhar Sirdr & | 99 &1 &1 ard 81

(1) 6.2 m/s (2) 4.5 m/s (3) 5.0 m/s (4) 5.7 m/s
(4)

V2
aC=_
r

2
15c0s30° = V—
25

V3=23273
V =5.7m/sec Ans.

RESONANCE EDUVENTURES LTD.

CORPORATE OFFICE : CG TOWER, A-46 & 52, IPIA, NEAR CITY MALL, JHALAWAR ROAD, KOTA (RAJ.) - 324005

REG. OFFICE : J-2, JAWAHAR NAGAR, MAIN ROAD, KOTA (RAJ.)-324005 | PH.NO.:+91-744-3192222
PH.NO. : +91-744-3012222, 6635555 | TO KNOW MORE : SMS RESO AT 56677

WEBSITE : WWW.RESONANCE.AC.IN | E-MAIL : CONTACT@RESONANCE.AC.IN | CIN : US0302RJ2007PLC024029

Toll Free : 1800 258 5555 08003 444 888 facehook,com/ResonanceEdu ntwitter.corn/ResonanceEdu www,youtube.com/resowamh Eblog.resonance‘ac.ir

THIS SOLUTION WAS DOWNLOAD FROM RESONANCE NEET 2016 PHASE-II SOLUTION PORTAL PAGE # 5




Resonance” | NEET_2016 (PHASE-Il) | 24-07-2016 | PAPER CODE-BB,QQ,XX

148.  Arrigid ball of mass m strikes a rigid wall at 60° and gets reflected without loss of speed as shown in the
figure below. The value of impulse imparted by the wall in the ball will be

(1) mTV (2) mV (3) 2mV @) mz_v

m SFAM ® Yo G dig (dfe) f5dl g8 SR 9 T @ H I T AR 60° TR THIABR WHEfid
B OIRN © | IfC 39 ufshan # 3ig @ a1 9 DI BT A8 Bl 8, a9 <aR gRT & W SR AT BT A4

I |
m
Vv
__60°
60°
Vv
(1) mTV (2) mV (3) 2mV 4) ”"Z—V
Ans. (2)

Sol. J=2mV cos 60 =mV Ans.

149. A bullet of mass 10 g moving horizontally with a velocity of 400 ms™" strikes of wooden block of mass 2
kg which is suspended by a light inextensible string of length 5 m. As a result the centre of gravity of the
block is found to rise a vertical distance of 10 cm. The speed of the bullet after it emerges out
horizontally from the block will be
(1) 160 ms™ (2) 100 ms™ (3) 80 ms™ (4) 120 ms™
400 ms' & & 37 | Terlt g€ 10 g TIHAA B TS el 2 kg THIH B AGS! B UH YCd F THI

2| I8 YCH TH 5 m T B! AAA SN F ACHI 2 | IR Mefl S TIRM & IRVIHEHT IS BT
T = 10 cm HEER SR IS A1l &, A1 [ed F &faat fen 4 IR feve W el @ ard g

(1) 160 ms™ (2) 100 ms™ (3)80ms™ (4) 120 ms™
Ans. (4)
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Sol. During the collision, apply moementum conservation
(0.01)(400) + 0 = (2)V + (0.01)V'
where V = /2gh

V=42x10x0.1
V=42

solving V' = 120 m/sec. Ans.

150. Two identical balls A and B having velocities of 0.5 m/s and —0.3 m/s respectively collide elastically in
one dimension. The velocities of B and A after the collision respectively will be
(1) 0.3 m/s and 0.5 m/s (2) —0.5m/s and 0.3 m/s
(3) 0.5 m/s and — 0.3 m/s (4) - 0.3 m/s and 0.5 m/s
3 FIEH QT AT B 97 HA: 0.5 m/s TA-0.3 m/s B | A TP Y@ & AW Fed §T THINH B |

afg I8 TIH UIRY B, A1 39 TIH] & UTAI B A A B I B, HESK:

(1) 0.3 m/s @ 0.5 m/s (2) — 0.5 m/s @2 0.3 m/s
(3) 0.5 m/s @M — 0.3 m/s (4) — 0.3 m/s @M 0.5 m/s

Ans. (4)

Sol Mass of balls are same and the collision is perfectly elastic, so their velocity will be interchanged.
So, Va=—-0.3m/s, Vg =0.5m/s Ans.

151. A particle moves from a point (—27 + 5]) to (4]+ 3I2) when a force of (4f+ 3])N is applied. How much
work has been done by the force?
(1 2J (2)8J 3)11J 4)5J

il B R (41 +3))N 907 o | 98 g (-2 +5)) A 5 (4] +3k) I facenfiq & o 2| =4
gfhar § 91 gR1 fohar a1 &R fan Brm?
(1) 2J (2)8J (3)11J (4)5J

Ans. (4)

Sol.  § =77 - (4]+3K)—(~2i +5i)

=8-3=5J Ans.
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152,

Ans.

Sol.

153.

Ans.

Sol.

154,

Ans.

Two rotating bodies A and B of masses m and 2m with moments of inertia I, and I (Is > I») have equal
kinetic energy of rotation. If Ly and Lg be their angular momenta respectively, then

(M La>Lgp (2) L, =|‘7B (3) La = 2L (4)Lg > La

goi9 #3d gU &I fUS) Adem B S HH: m A1 2m 3R TS 3MMELT HA: 1o 71 Ig (Ig > [n) © |
S AT @ gUIF TS SO AMH H SRR B | AT $78 IO FAT HA: L 71 Lg BN, A

Lg

(1) La > Lg @ Ly =2 (3) La = 2Lg (4) Lg > La
(4)

KEA = KEB

02 = Lo ince I > I <

E AOA _E BOR = since lg A SO g < WA

1 1

E Laoa = E Lgwg = Lg > La Ans.

A solid sphere of mass m and radius R is rotating about its diameter. A solid cylinder of the same mass
and same radius is also rotating about its geometrical axis with an angular speed twice that of the
sphere. The ratio of their kinetic energies of rotation (Espnere / E cylinder) will be :

SIAN m T 3597 R &1 Uh 3 el 30 &9 & URa: 9ol &x Y81 8 | S Sawe dor S 3o

FT b oI dod (Riferex) W g SIfiig 311 & uRa: goiF &R @ 2| 9o @ goiF @1 sof ara
Mol | & AT 8 | 39 S B GO AT HoNsi BT U (Esirey / Esyarr) B |
(1)3:1 () 2:3 (3)1:5 4) 1:4
(3)
KE of sphere = 1(ng2Jm2 = 1mR2®2

2\ 5 5

2

KE of cylinder = 1(mR J(zm)2 = mR%»> So, Esphere _ 1 Ans.

2 2 KEcylinder S

A light rod of length | has two masses m4 and m; attached to its two ends. The moment of inertia of the
system about an axis perpendicular to the rod and passing through the centre of mass is :
TH Bodl BS Pl o418 | 2| 398 a1 RRT A HHT: my AT m, ST & 08 o™ 21 59 B8 & o

Jor $9d el b= ¥ YoiRd gY 3181 & URa: 39 e &1 STsw el anm—

mym, /2 3) mym, /2

mq +ms, mq +ms,

(1) ymm, ¢ (2) (4) (my+my)/?

(2)
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sol- ér‘l 9 érZ»

— 2 2
= myry +myr;

2 2
m m
m1 —ZE + my —1€
my +my my +my

mymy (my +mj,) ¢

(m1 4+ m2)2
= M Ans
(my +m,) ’

155.  Starting from the centre of the earth having radius r, the variation of g (acceleration due to gravity) is

shown by

afs gl @1 B Re, @ 9ol @ @s 9 URY IR [ocdid R0 g & GRacs ®I Fifdbd § 4 diF—d

NG (ITh) FEl SoATaT 8 ?

1) 1)
g g
(1) (2)
O™ R TR
1) 1)
g g
3) (4)
TR O R

Ans. (3)
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Sol.

Oin = Jo— go is 'g' at surface

156. A satellite of mass m is orbiting the earth (of radius R) at a height h from its surface. The total energy of
the satellite in terms of g, the value of acceleration due to gravity at the earth's surface, is

e IUTE, RH S9F m 2, 52t & U8 9 h a8 W g o gRHAT o= @ 2 | Al gedt a1 o
RT | 1 SUS U8 W THE @RV $T AF goB, A STUT &I Fol SHoll alfi—

2mg,R? mg,R? mg,R? Rmg,R?
(1) - £MGoR ) RS (3)- RALICTIA N (4) B0
R+h 2(R +h) 2(R +h) R+h
Ans. (3)
2 2
Sol. TE= GMm GMm R = g,mR

"2R+h)  2R+h)RE 2(R+h)

157. A rectangular film of liquid is extended from (4 cm x 2cm) to (5 cm x 4 cm). If the work done is 3 x 107~
J, the value of the surface tension of the liquid is
fod 5 @I JATHER el (fhew) &1 faaR (4 cm x 2cm) F @R (5 cm x 4 cm) &R &1 ST 2 |

Ife 39 ufhar # foar a1 w1 3x 1071 J &, A 59 B IS TG BT A -

(1) 8.0 Nm™ (2) 0.250 N m™ (3)0.125 Nm™ (4) 0.2 Nm™
Ans. (3)
Sol.  Increase in surface area = (20 cm” — 8 cm?) x 2
=12 x2cm?

= 24 cm? (film has two surfaces)
Sowork done =T.AS= Tx24x10*=3x10""*

soT= iN/m =1Nm‘1 =0.125 N/m
24 8
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158.  Three liquids of densities p 1, p2 and p3 (with p 1 > p> > p3), having the same value of surface tension T,
rise to the same height in three identical capillaries. The angles of contact 64, 6, and 6; obey
T Sl & T HAI py, po TAT p3 (p1> p2 > p3) B | AHI SA1 BT S 9@ T 99 ¢ | A Faad
BT § N 59 9 HAE dF ded 2| I 39 S b AU WA—BI0T HHIA: 04, 0,TAT 038,
fr=fafad # | o I e 8Rm ?

(1)ﬂ>91>92>93<g (2)g>91>92>9320
(3)0<0;<0; <0;< 7 (4) 2 <01>0,>05<m
Ans. (3)
Sol. h=2Tcose
pgr

cos0O, cos0O, coso,
P P2 Ps

cosB4 > cosb, > cosb3 as p1 > p2 > ps3
0<0:<0,<03<m/2

159. Two identical bodies are made of a material for which the heat capacity increases with temperature.
One of these is at 100°C, while the other one is at 0°C. If the two bodies are brought into contact, then
assuming no heat loss, the final common temperature is
(1)0°C (2)50°C
(3) more then 50° C (4) less than 50° C but greater than 0° C
3 FdHg fivs Ue Vo ueied & 99 & Rt oo eiRdr 9" & A1 9 ol 2 | 3 W Ua fvs @

™ 100°C T TAX BT 0°C & | A S SHI DI TS ¥ 3@ 91 3R S AfhaT § ST &1 &g 7 81, Al
3+ fvst &1 S9afs am grm—

(10°C (2) 50° C
(3) 50° C &1 2ifdr® (4) 50°C ¥ &9 <] 0°C ¥ 1fdaw
Ans. (3)
Sol. Body at 100°C temperature has greater heat capacity than body at 0°C so final temperature will be

closer to 100°C. So T, > 50°C
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160. A body cools from a temperature 3T to 2T in 10 minutes. The room temperature is T. Assume that
Newton's law of cooling is applicable. The temperature of the body at the end of next 10 minutes will be

frefy avg &1 @™ 3T/ 2T 9% ARA # 10 e &1 999 oWl 8| R &1 @™ T 2| Ik 3899 ged &
fiaem W @1 srgure Biar 8, A1 31Tel 10 fiFe & of<d H 9% &1 A Br |

7 3 4
NT 2) =T )T 4) =T
(1) (2) 2 (3) 5 (4) 3
Ans. (3)
Sol. AT =ATe™
T= 2Te—k(10 min)
- 1 T
AT' = 2Te™®™ = 2T| — | = —
2) 2
So Tf= T+ I = E
2 2

161. One mole of an ideal monatomic gas undergoes a process described by the equation PV° = constant.
The heat capacity of the gas during this process is :

el wsh T WAV e N B UH Al B uRade B wHiawr PVC = ReRie g1 e fasar i
21 39 uHH o @l #H 9 @ e arikar Brfi—

(R (2) ER (3) ER (4) 2R
2 2
Ans. (1)
Sol.  PV? = constant

for a polytropic process. PV* = constant
R

C=C,+
1

162. The temperature inside a refrigerator is t, °C and the room temperature is t; °C. The amount of heat
delivered to the room for each joule of electrical energy consumed ideally will be

el efiderd RfFoReR) @ IR &1 M £, °C 2| 3R &R &1 ™ 4 °C B | 3l smawen ¥ ufy g faga
ol & AT EF WR R DI REIRG ST BT A4 &1 T—

t,+t, 2 b (3 1273 @) 124273

(1) —
t1 +273 t1 - t2 t1 - t2 t1 - t2

Ans. (3)
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Sol.

163.

Ans.

Sol.

164.

Ans.

Sol.

Qmore _ Qmore _ Tmore _ t1 +273 - t1 +273

w Qmore - QIess - Tmore - Tless (t1 + 273) - (t2 + 273) t1 - t2

A given sample of an ideal gas occupies a volume V at a pressure P and absolute temperature T. The
mass of each molecule of the gas is m. Which of the following gives the density of the gas ?
Bl areel 19 & fieel &1 @ P ol WA A9 T8N W 3ad Ve | 39 19 & IAS A9 BT G999 m
21 N B T B -
(1) mkT (2) P/ (KT) (3) Pm / (KT) 4) P/(KTV)
(3)

= PV

RT Molarmass RT

mass _ (Molarmass)P _ (mN,)P _ mP

density = Sl
volume RT RT KT

A body of mass m is attached to the lower end of a spring whose upper end is fixed. The spring has
negligible mass. When the mass m is slightly pulled down and released, it oscillates with a time period
of 3 s. When the mass m is increased by 1 kg, the time period of oscillations becomes 5 s. The value of
minkgis:

fod HAF &1 HU RRT ReRr @ a2 fgel RR 9 m g9 ™ &1 U fve dedhl 8 | SAF BT S7ueT
SIA™ TG B | AT B Faat RR B oAieT 91 e B o1 W SIHE m & fUvg Jreis &R o Tl

2 @R 39D Il B AMAABIA 352 Im D A H 1 kg 98 R Qra-ell dI 3MAddId 558 ST 81 m

BT kg H A B—
9 3 4 16
(1) 16 @ 3) B 4) B

(1)

T= 2n\/§ = 3sec

m+1

T=2n =5sec

m 37 9
dividing & squaring (—j =[_j -
m+1

25m=9m+ 9 som=%kg

RESONANCE EDUVENTURES LTD.

CORPORATE OFFICE : CG TOWER, A-46 & 52, IPIA, NEAR CITY MALL, JHALAWAR ROAD, KOTA (RAJ.) - 324005

REG. OFFICE : J-2, JAWAHAR NAGAR, MAIN ROAD, KOTA (RAJ.)-324005 | PH.NO.:+91-744-3192222
PH.NO. : +91-744-3012222, 6635555 | TO KNOW MORE : SMS RESO AT 56677

WEBSITE : WWW.RESONANCE.AC.IN | E-MAIL : CONTACT@RESONANCE.AC.IN | CIN : US0302RJ2007PLC024029

Toll Free : 1800 258 5555 08003 444 888 facehook,com/ResonanceEdu ntwitter.corn/ResonanceEdu www,youtube.com/resowamh Eblog.resonance‘ac.ir

THIS SOLUTION WAS DOWNLOAD FROM RESONANCE NEET 2016 PHASE-II SOLUTION PORTAL PAGE # 13




Resonance” | NEET_2016 (PHASE-Il) | 24-07-2016 | PAPER CODE-BB,QQ,XX

165.

Ans.

Sol.

166.

Ans.

The second overtone of an open organ pipe has the same frequency as the first overtone of a closed
pipe L meter long. The length of the open pipe will be
el gol oA sy & f&dfi IftRaR® @t gl L #iek o 975 UI8U & UM AfRaR® @1 gy &

WIER 2| Gl Y B =T 81—

(1) 4L @)L (3) 2L (4) %
(3)

Fundamental I overtone 2" overtone

3V._3V_3v
a, 4 20
£0=2L

f=

Three sound waves of equal amplitudes have frequencies (n —1), n, (n + 1). They superimpose to give
beats. The number of beats produced per second will be

HAE M &1 A1 & WA B AR HA: (n 1), n, (n+ 1) T | 378 AR ¥ fIo< I 81d
2| vy Aopve S favol @ der -
(12 (2)1 (3)4 4) 3
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Sol.

167.

Ans.

Sol.

168.

Ans.

no. of beats = 1

(HCF of beat frequencies )

An electric dipole is placed at an angle of 30° with an electric field intensity 2 x10° N/C. It experiences a

torque equal to 4 N m. The charge on the dipole, if the dipole length is 2cm, is

v faga fgya a1 2 x10° N/C g & faga &5 & 30° H1o1 W 7@ 4 96 W 4 N m &1 g el

T 2 | If fgga o TS 2cm B, A1 S9 39w BRT—

(1) 7 uC (2) 8mC (3)2mC (4) 5mC

(3)

1 = PE sin6

4=Px2x10°x 1
2

- P=4x10°cm=qx2x 107

_ 4x10°

2107 = 2x10™ coulomb
X

A parallel- plate capacitor of area A, plate separation d and capacitance C is filled with four dielectric
materials having dielectric constant k4, ko, k3 and k4 as shown in the figure below. If a single dielectric
material is to be used to have the same capacitance C in this capacitor, then its dielectric constant k is
given by

Th FHRR—Ufccdl QRS &1 &a%hd A TAT FAD! gIRAT C B | 3TH! &I ©ici & d19 BT gIHd (3) d
21 SAH B Ky, Ko, ks TT ky WRIAEQTH & IR WAL U1, 9 A oIR@ # S0 T AR, W T
21 I 37 IRl Widga usRif & ©F W 59 99IRT # k WIAEAie B dHad Ud Riagd gared wR1 S
aqifes IF&! ekar C & &, a1 k &1 A9 8

A3 A3 A3

Vo=

*d/2

() R (2) k =k + ko + ks + 3k4

k ki ko ks 2k,
B k=2 (ki + ko + ko) + 2Ky w28 1
3 K ky+ky+ks k4

(4 or bonus)

RESONANCE EDUVENTURES LTD.

CORPORATE OFFICE : CG TOWER, A-46 & 52, IPIA, NEAR CITY MALL, JHALAWAR ROAD, KOTA (RAJ.) - 324005

REG. OFFICE : J-2, JAWAHAR NAGAR, MAIN ROAD, KOTA (RAJ.)-324005 | PH.NO.:+91-744-3192222
PH.NO. : +91-744-3012222, 6635555 | TO KNOW MORE : SMS RESO AT 56677
WEBSITE : WWW.RESONANCE.AC.IN | E-MAIL : CONTACT@RESONANCE.AC.IN | CIN : US0302RJ2007PLC024029

Toll Free : 1800 258 5555 08003 444 888 facehook,com/ResonanceEdu ntwitter.corn/ResonanceEdu www,youtube.com/resowamh Eblog.resonance‘ac.ir

THIS SOLUTION WAS DOWNLOAD FROM RESONANCE NEET 2016 PHASE-II SOLUTION PORTAL PAGE # 15




Resonance” | NEET_2016 (PHASE-Il) | 24-07-2016 | PAPER CODE-BB,QQ,XX

Sol.

(o]
C2 C3
k k k N —1 1
1 2 3 C1 I I —
ks ks ks C4/3__ C‘”3__ C4&_
o
i+i 3 . 3d 3 J1 1
C, C, 2kegA 2k,eA 2g,A |k, Kk,
Ceq = Ke,A _ 2e,A | kik, N k,k, N kK,
d 3d |k, +k, k,+k, k;+k,

K _2] ki, N kK, N KKk,
3 |ky+k, k,+k, Kk;+k,

Alter :

Wrong solution seems to be correct as per the options given.

2A
3d 0
K4 Ko Ks _—
T T
2A EO A eo
= —— (ki +ky,+k3)=C = k,=C
3 d (k1 + ko + k3) = Ca g «=Cs
1 s
Ceq. CA CB
d 30 4 ikeky
agoKeq 2A80 2A80k4
1 1
_=—(k1 +k2 +k3)+_
o 2 2k,
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169.

Ans.

Sol.

170.

Ans.

171.

Ans.

The potential difference (Va4 — Vi) between the points A and B in the given figure is :

T N ARW ¥ fIgei Aden B& d9 fAwariR (Va — Vi) BRT

Va m = g Vg
A I=2A B
(1)+9V (2) -3V (3)+3V 4) +6V
(1)
- 2Q 3|\|/ 10 (0)
9\; 2; VV WV 5:/ |! 2.\/ VWV \°/B
Va— Vg = 9volt

A filament bulb (500 W, 100 V) is to be used in a 230 V main suply. When a resistance R is connected
in series, it works perfectly and the bulb consumes 500 W. The value of Ris :

e fharic (A<)) 99 (500 W, 100 V) &1 230 V &1 39 Fls § Y fhar S 2 | s9a &ofisd 7 R
TRRIY S W I8 99 Uia: SId HRf HRar & e 500 W i ofdr 81 R &1 919 & -

(1) 13 Q (2) 230 O (3)46 O 4) 260
(4)

+(100V)—+(130V)—

=—=5A so 130 = 5R

R=26Q
A long wire carrying a steady current is bent into a circular loop of one turn. The magnetic field at the
centre of the loop is B. It is then bent into a circular coil of n turns. The magnetic field at the centre of

this coil of n turns will be :

e o AR A SuRad fEga—eRT yarfEd 81 8 § 1 39 dR $ Ud B & galdR U () § Hred |
b B R FHOII &F P 91 B2 | 3R A AR B n BRI P JAGR Fsoil A Al a1 & g, A1
T N ORI B A B D= W JHOR FF B0 |

(1) 2n*B (2) nB (3) n°B (4) 2nB

(3)
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Sol.

B = Hohi _ Honi _ n*pomi -n2B
2r ( / j 2/
o £
2nn

172. A bar magnet is hung by a thin cotton thread in a uniform horizontal magnetic field and is in equilibrium
state. The energy required to rotate it by 60° is W. Now the torque required to keep the magnet in this
new position is :
el TraaE &fS geo™ &3 9 S udd gol 86 9 dcHEl T Uh &8 gEd ardraRe § g g4
60° | AN & forg 3Mawad ol W 2| 39 59 g 3l 34l T4 R # 7R 3@ & fog smawas

JA—ATEOT BT AN BT |

2w
V3

fw

2 W (3) V3W (a) BW

(1) NG
Ans. (3)
Sol. Wext =U;—

= —MB cos 60° — (—MB)

= MB(1 — cos 60°) = MB/2 =W

Ne

r=MBsin60°-MB— NEYW

173. An electron is moving in a circular path under the influence of a transverse magnetic field of
3.57 x 1072 T. If the value of e/mis 1.76 x 10"’ C/kg, the frequency of revolution of the electron is :
3.57 x 1072 T Tadl & AIIRT FRHIT &7 & UG § Th golag= g dwel § goiF o <@ 2|

e/m &7 A9 1.76 x 10" C/kg &1, A Foidei & URHHVT B IMgRy R |

(1) 6.82 MHz (2) 1 GHz (3) 100 MHz (4) 62.8 MHz
Ans. (2)
sol. R="1V
qB
o=y _9B
R m
1 2
(o © _ 1 gB_176x10"x357x102 o
2 2nr m (2x3.14)
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174,

Ans.

Sol.

175.

Ans.

Sol.

Which of the following combinations should be selected for better tuning of an L-C-R circuit used for
communication?

HgR =g fHefl L-C-R uRuat & dJg@® IRyl (egfi) & forg e=fafed & & 99— ¥ao Swg®
B ?

(MR=250Q,L=15H,C=45uF (2)R=200Q,L=15H,C=35puF
(B3)R=250Q,L=25H,C=45uF 4)R=15Q,L=3.5H,C=30uF

4)

Option with highest quality factor sould be chosen as most appropriate answer.
1 L

Q= —, |—
RYC

A uniform magnetic field is restricted within a region of radius r. The magnetic field changes with time at
a rate % . Loop 1 of radius R > r encloses the region r and loop 2 of radius R is outside the region of
magnetic field as shown in the figure below. Then the e.m.f. generated is :
mwgﬁmﬁarﬁWTiﬁﬁﬂﬂﬁaﬁ@ﬁﬁ%I%W’J@HW@?WQ% PRI

gRafia grar 81 9 &Y o # <ol T Ig[R 351 R > r &7 9T (qU) 1, r &3 &1 gRag wvar 2
Jorm R 31 &1 Ut 2, gRHR &3 B WA | 9K © | ST [JEqaEd 99 b1 A B |

(1) —%nr2 in loop 1 and zero in loop 2 (2) zero in loop 1 and zero in loop 2
(3) —%nr2 in loop 1 and —%nr2 inloop2 (4) —%nR2 in loop 1 and zero in loop 2

(1)EIT3T—%M2?‘T?JTEIT3T2'§¥EI (2)uer 14 39 dAT Ul 2 H gH

(3)urer 1 # _9B 2 gor arer 2 % 9B 2 (4)Trer 1 ¥ _9B R? gor urer 2 NG
dt dt dt

(1)
- _do_ d

2 ,dB . .
=——{nr“B} = —nr*—inloop 1 & zero in loop 2.
gt gt e P P
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176.  The potential differences across the resistance, capacitance and inductance are 80 V, 40 V and 100 V
respectively in an L-C-R circuit. The power factor of this circuit is

fpdl L-C-R uRuer & ufeRigs, aiRdr den WRead & RIRT & 9 fayark 80V, 40 Va2m 100V 2| 59
afRuer &1 2Ifh o1 I |

(1 1.0 (2)0.4 (3)0.5 (4)0.8
Ans. (4)
Sol. Power factor = E = B = 80 80 0.8

z iz (80)2 +(60)2 100

177. A 100 Q resistance and a capacitor of 100 Q reactance are connected in series across a 220 V source.
When the capacitor is 50% charged, the peak value of the displacement current is

100 Q FT TH FRRIE T 100 Q Ufre &1 v 9aiiE, fHd 220 Ve a4 Sofsd 3§ s ¢ | GuRe
F 50% AT B W fAvermus gRT &1 RRER A9 B |

(1) 11V2A 2)22A @) 1A (4)4.4A
Ans. (2)
Sol. z=R2+X2 =/(100)? +(100)° =1002
imax = Vmax = 220\/5 =22
z 10042

178.  Two identical glass (pg = 3/2) equiconvex lenses of focal length f each are kept in contact. The space
between that two lenses in filled with water (., = 4/3). The focal length of the combination is
DA (g = 3/2) B I FIGH FHIA ol H YIS B BIHA g f 8 | $THI TP H IGIR $7P 419 B
R I B ST (= 4/3) F WR QAT ST 2| S ISR 99 FAI0 Bl Bidd 10 8|

3f f 4f
1) = 2) — 3)f 4) =
()4 ()3 (3) ()3
Ans. (1)
3/2
Sol.
R R
1.(3_42_1
f 2 JR R
A (4 4.2l__2
13 R 3R
1 1 2 1 3-2+3 4
So S e AT -
f, f 3f f 3f 3f
3f
feq=I
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179.  An air bubble in a glass slab with refractive index 1.5 (near normal incidence) is 5 cm deep when
viewed from one surface and 3 cm deep when viewed from the opposite face. The thickness (in cm) of
the slab is

B B HA dfgd, ad1 sadTi® 1.528, & Wik a1g &1 U6 gagel < © | Uedl & TP IS 4
T Y @Y R 39 Agel @ TERTE 5 cm de1 I g% ¥ e R 3 om U B B 1 39
gfgd! @1 "erg (cm #) Uid 8l B

(1) 16 (2)8 (3) 10 (4)12
Ans. (4)

Sol.

A
x

v

l
=)
W

=3+5

X
u
£=8
u

£=8x§=120m
2

180. The interference pattern is obtained with two coherent light sources of intensity ratio n. In the

interference pattern, the ratio Lmax = Iy will be

max T Imin

YT b &l BARTEE Gl Bl el UM n & | $7 J-—RMY | Ui @faepor Yed § srgurd .

Imax _Imin BT 7T gﬁm-r
Imax + Imin
2Jn Jn 2Jn Jh
(n+17 @ ® ) (n+1)
Ans. (3)

o= (= (T =4
Imn=(Jﬁ—1f1
Lnox —lwn . N+1+2dn-n—-1+2Jn 4vn 2Jn

Imamem_(n+1+2\/ﬁ)+(n+1—2\/ﬁ)_2(n+1) - (n+1)
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